Svenska Bridgeférbundet
Simultan 2022-08-29

Partavling, 80 bord, 152 par. Antal brickor: 24. Medel: 1704.6. Frirond (*) ger egen procent.

Plac Par
1 B1
2 His5
3 Hil1l
4 D4
5 Bil1
6 B16
7 L6
8 E14
9 C2

10 F1
11 L8
12 G4
13 16
14 C6
15 Hi16
16 D5
17 H20
18 L5
19 L11
20 D8
21 A3
22 E3
23 A13
24 K5
25 C5
26 Al2
27 G5
28 E7
29 C3
30 A8
31 L3
32 K2
33 E9
34 J5
35 F10
36 E1
37 H14
38 L4
39 Ki2
40 H13
41 B7
42 J6
43 L10
44 G11
45 18
46 G9
47 12
48 E6
49 H17
50 E10
51 Gl14
52 B3
53 F7
54 B2
55 K9
56 L12
57 19
58 Al
59 G7
60 L2
61 Al0
62 G112
63 Ll14
64 A9
65 F4
66 E13
67 J4
68 F3
69 J2
70 K11
71 C1
72 H6
73 B8
74 G3
75 J1
76 17
77 K10
78 D1
79 110
80 G2
81 J8
82 K3
83 K7
84 All
85 H19

Poang

2601.7
2479.3
2426.5
2368.9
2262.7
2252.1
2231.8
2189.2
2176.5
2168.1
2149.4
2147.9
21141
2110.5
2107.1
2099.7
2094.3
2092.1
2085.9
2073.7
2069.3
2059.6
2056.5
2029.9
2000.5
1988.1
1983.0
1971.4
1969.5
1965.5
1950.4
1950.1
1949.7
1937.7
1934.7
1930.6
1911.9
1911.4
1911.1
1910.2
1905.5
1898.9
1893.3
1892.2
1891.9
1889.2
1880.9
1876.7
1876.1
1862.5
1860.1
1857.7
1854.8
1844.3
1836.1
1834.8
1825.5
1815.4
1800.5
1797.3
1795.5
1790.3
1785.3
1776.8
1775.9
1775.9
1771.3
1764.7
1758.7
1739.3
1735.5
1733.7
1731.4
1722.0
1716.7
1713.9
1693.9
1692.1
1680.1
1676.6
1675.6
1671.7
1669.9
1666.9
1659.8

%

76.34
72.75
71.20
69.51
66.39
66.08
65.49
64.24
63.87
63.62
63.07
63.02
62.03
61.93
61.83
61.61
61.45
61.39
61.21
60.85
60.72
60.44
60.34
59.56
58.70
58.34
58.19
57.85
57.79
57.67
57.23
57.22
57.21
56.86
56.77
56.65
56.10
56.09
56.08
56.05
55.91
55.72
55.55
55.52
55.51
55.43
55.19
55.07
55.05
54.65
54.58
54.51
54.42
54.12
53.87
53.84
53.57
53.27
52.83
52.74
52.69
52.53
52.38
52.14
52.11
52.11
51.97
51.78
51.61
51.03
50.93
50.87
50.80
50.53
50.37
50.29
49.70
49.65
49.30
49.20
49.17
49.05
49.00
48.91
48.70

Namn

Gert Bodén - Kent Karlsson

Bjorn Fylke - Ake Nilsson

Christer Holst - Mevludin Hadziavdic
Stefan Asgarden - Sten Johansson
Lennart Johansson - Joakim Johansson
Krister Ahlesved - Catharina Ahlesved
Boris Olsson - Henrik Fryklund

Mats Hall - Jérgen Claesson

Villy Havasi - Per Andersson

Hakan Lager - Gunnar Stockhaus
Per-Olof Kallio - Dennis Karlsson

Jan Nilsson - Ulf Bogren

Kenneth Nilsson - Ove Woxlagd

Uno Andersson - Gert Andersson

Bo Ahlberg - Jan Jonsson

Jaenita Johansson - Kaj Toivosson
Christer Sandberg - Jan-Erik Larsson
Irma Karlsson - Marianne Sundstrom
Kalle Aldeborg - Kent Johansson
Mattias Frank - Bjorn Westling

Hakan Lindback - Stefan Andersson
Johanna Granlund - Jan-Olov Lundqvist
Solveig Bystrom - Nils Andersson
Torbjorn Utterstrom - Hans Holmlund
Lars-Goran Larsson - Bodil Gustafsson
Asa Andersson - Eva Czajkowski

Gert Fors - Lars Pettersson

Dorothy Tagt - Jon Lundqvist

Tage Ericsson - Britt-Marie Warborn
Sture Helmersson - Lars Rydman
Lena Zetterup - Florence Fridén

Hans Molin - Richard Lundqvist

Tony Laszlo - Sven Nilsson

Lennart Nordberg - Sven-Erik Persson
Erland Sommarskog - Orjan Svensson
Hakan Gabrielsen - Erik Franzén

Leif Andersson - Borje Svensson

Liv Andersson - Ake Andersson

N-G Nilsson - Robert Bohman

Ido Leden - Birgitta Leden

Christer Lindman - Sten Granlund
Maria Andreasson - Ulla Skéarberg
Lennart Lundqvist - Lars-Olof Karlsson
Rolf Gustafsson - Ake Karvegard
Margareta Nilsson - Rolf Nilsson
Per-Erik Pettersson - Bo Selander
Sven-Ove Jonsson - Anders Hyttstrand
Ingela Nelander Hall - Magdalena Hansson
Margareta Olsson - Karin Hallengren
Monika Savberg - Marianne Lofquist
Anders Nilsson - Mikael Edenklint
Lena Bohman - Kurt Wikstrom

Gunbhild Heinlo - Folke Persson

Leif Carlsson - Torbjorn Sjoberg
Gunnel Naswall - UIf Utterstrom

Mikael Skon - Maria Skoén

Markus Sahlin - Mikael Johansson
Rolf Forsberg - Birgitta Kerstis

Séren A Hansen - Ann-Charlotte Nordbjérk
Dolf Bergman - Bertil Samuelsson
Johnny Ramsten - Helena Lindholm
Fredrik Wickstrom - Bert Jehpsson
Anna Ek - Per Ivarsson

Gunilla Bjerregaard - Lena Andersson
Roger Eriksson - Hans Eklund

Peter Nohrén - Per-Ake Granlund
Goran Johansson - Jan Jonsson
Georg Larsson - Christer Ohman
Roland Svensson - Tommy Johansson
Melker Fransson - Berith Markstedt
Per Sintorn - Kenneth Svensson

Nina Schain - Sune Andersson

Barbro Posse - Kjell Posse

Marianne Skovsted - Lisbeth Rosendahl
Bengt Alfredsson - Maud Brink

Jonas Gabrielsson - Rolf Adolfsson
Eva-Britt Blomkvist - Lars-Goran Blomkvist
Sten Oman - Gunnel Svensson

Lars Hamberg - Margareta Ringdahl
Christina Gutenwik - Ulla-Britt Carlsson
UIf Backman - Maria Ohlsson

Lars Bodén - Tomas Oskarsson

Mats Lundquist - Anita Borjesson
Lennart Ekholm - Christer Astrom
Per-Erik Persson - Gunnar Neovius

MID
4113 4155
4715 8007
48988 78242
3901 47019
20178 68245
13995 7124
17676 82649
148 28214
89205 17111
2236 2001
11754 46247
4501 486
79601 12900
14106 88600
64183 48283
7598 1673
15867 593
13187 17677
3922 3908
86217 1666
2658 13753
20440 84131
57019 3543
9521 15069
2743 22165
7928 8995
16982 19698
7188 50092
5311 2783
16749 17814
87572 32680
20432 20910
60350 58997
13321 13405
1921 13332
27871 76
59340 39350
4831 91475
21466 17371
82104 26343
200355 91136
61184 15888
7513 89545
16192 59636
56870 12397
10690 10057
30356 36293
93856 37699
14665 684
55135 58570
13968 13725
56467 56473
2175 10661
54243 54242
87162 40098
92692 92691
46317 8348
13471 28264
78215 11212
1618 20277
90802 49544
4496 5541
59578 26016
4757 11061
9021 46360
81347 37
9624 8317
10658 43095
92781 16141
87148 64309
36301 14859
59344 18112
43910 43909
16230 30600
10495 82812
57086 6186
9525 9545
10766 7601
2440 46316
6301 6327
82648 87599
90727 80075
9694 51852
50946 38022
5861 17106

Klubb

ABK Singelton, Askersund
Kristianstads BK

Kristianstads BK

BK Lyx - Bords BA

ABK Singelton, Askersund
Uppsalabridgen - Orebridgen
Uddevalla BF

Borlange BK - Hedemora BS
BK Albrekts

Ronninge BS - Botkyrka BS
Uddevalla BF

Hassleholms BK

Krokom / Follinge BK

BK Albrekts

Ahus BK - Kristianstads BK
Boras BA - Ulricehamns BK
Sdélvesborgs BK - Hassleholms BK
Uddevalla BF

Uddevalla BF

Boras BA

ABB BK

Borlange BK

ABB BK

Skellefted BK

BK Albrekts

ABB BK

Hassleholms BK

Borlange BK

BK Albrekts

ABB BK

Stenungsunds BK - Tjérns BK
Skellefted BK

Borlange BK

Laholms BK

Gnesta BK

Borléange BK - Hedemora BS
Kristianstads BK

Uddevalla BF

Skellefted BK - Norsjo BK
Kristianstads BK

ABK Singelton, Askersund
Laholms BK

Uddevalla BF

Hassleholms BK

Bréacke BK - Storsjobygdens BK
Héassleholms BK

Krokom / Féllinge BK - Are-Duveds BK
Borléange BK

Kristianstads BK

Borlange BK

Bjarnums BK - Hassleholms BK
ABK Singelton, Askersund
Gnesta BK

ABK Singelton, Askersund
Skelleftea BK

Uddevalla BF

Storsjobygdens BK

ABB BK

Ostra Goinge BK - Bjarnums BK
Orust BK

Hallstahammars BK

Hoo0rs BK

Uddevalla BF

ABB BK

Gnesta BK

Borlange BK

Laholms BK

Gnesta BK

Laholms BK

Skellefted BK

BK Albrekts

Kristianstads BK - Nasby IF:s BS
ABK Singelton, Askersund
Hassleholms BK

Laholms BK

Krokom / Féllinge BK - Storsjobygdens BK
Skellefted BK

Bords BA

Krokom / Féllinge BK - Storsjébygdens BK
Hassleholms BK - Ostra Godinge BK
Laholms BK

Skellefted BK

Skellefted BK

ABB BK

Kristianstads BK
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86 H8 1651.1 48.45 Arne Ljungars - Carl Sterner 31307 14722 Ahus BK
87 B5 1647.4 48.34 Conny Svensson - Sten Andersson 7638 9796  ABK Singelton, Askersund
88 Bl14 1644.9 48.27 Nils Westling - Astor Karlsson 28355 30800 Motala Bridgeallians - ABK Singelton, Askersund
89 D6 1639.3 48.10 Fredrik Andersson - Patrik Green 26484 68599 Boras BA
90 D3 1635.1 47.98 Gittan Erikson - Brita Daun 10273 1691 Borads BA
91 L9 1629.5 47.81 Inger Karlsson - Hakan Nystrand 3604 31846 Uddevalla BF
92 F9 1627.5 47.76 Lennart Stenkvist - Kerstin Persson 14565 10662 Gnesta BK
93 E5 1627.1 47.74 Annelie Strom - Lisbet Mattsson 60347 57723 Borlange BK
94 D9 1620.7 47.56 Lars-Goran Olsson - Roger Brandt 24911 4310 Boras BA
95 K1 16149 47.39 Christer Bergqgvist - Stefan Andersson 42898 15068 Norsjo BK - Skellefted BK
96 G10 1613.5 47.34 Magnus Widarsson - Jan-Ole Engkvist 37131 4475 Hassleholms BK
97 G1 1603.1 47.04 Lars Malm - Lars-Ake Nilsson 6394 12667 Hassleholms BK
98 D7 1599.3 46.93 Birger Aronsson - Lennart Johansson 4314 14976 Boras BA
99 J9 1599.1 46.92 Lena Skoglund - Gunilla Johansson 8594 32115 Laholms BK
100 Al4 1597.1 46.86 Kjell Persson - Barbro Lénning 55343 64917 ABB BK
101 F6 15919 46.71 Lasse Sjolander - Gunilla Larsson 54221 10657 Gnesta BK
102 B10 1591.6 46.70 Bengt Carlsson - Birgitta Carlsson 89279 89641 ABK Singelton, Askersund - Motala Bridgeallians
103 H2 1590.8 46.68 Kjell Stolpe - Bjorn Alfer 31218 87803 Kristianstads BK
104 11 1563.1 45.87 Kjell Starlander - Marie-Louise Asell 93815 18774 Storsjobygdens BK
105 H1 1555.3 45.64 Birgitta Olsson - Margareta Bengtsson 59325 64278 Kristianstads BK
106 H4 1545.7 45.36 Inger Andersson - Dan Berger 54677 64939 Solvesborgs BK
107 H18 1544.1 45.31 Kjell-Ake Salomonsson - Elin Bengtsson 64263 64259 Kristianstads BK
108 K4 1543.1 45.28 Roger Nilsson - Kurt Eklund 27617 81434 Skellefted BK
109 J3 1541.7 45.24 Kristina Sahlin - Rolf Runquist 25964 38985 Laholms BK
110 E2 1538.7 45.15 Kjell Lundqvist - Hans Andersson 38578 43255 Borlange BK
111 G16 1534.3 45.02 Mona Mattsson - Bengt Joénsson 30608 30612 Hassleholms BK
112 C4 15255 44.76 Karin Edler - Gunilla Andersson 30687 88955 BK Albrekts
113 13 1525.1 44.75 Ake Andersson - Ake Granlév 200059 4093  Krokom / Féllinge BK - Are-Duveds BK
114 B9 1514.3 44.43 Roland Karlsson - Orjan Eriksson 6595 50170 ABK Singelton, Askersund
115 B4 1505.2 44.17 Elsie Robertsson - Sven-Peter Johansson 34452 26270 ABK Singelton, Askersund
116 H5 1503.5 44.12 Karin Dribe - Marita Dahlgvist 26408 82138 Kristianstads BK
117 A4 1498.1 43.96 BengtLarsson - Sujata Sardesai 32964 32532 ABBBK
118 G6 1494.0 43.84 Roland Andersson - Rolf Svensson 30213 26039 Bjarnums BK - Hassleholms BK
119 F5 1481.3 43.46 Goran Swartz - Torsten Karlsson 57683 49176 Gnesta BK
120 L15 1473.9 43.25 Thomas Andersson - Hans Nodby 38242 50039 Uddevalla BF - Ljungskile BK
121 A7 1453.4 42.65 Erik Lindelof - Gunnar Wilén 3973 42658 ABB BK
122 K8 1453.3 42.64 Olle Ivert - Gosta Engvist 56942 61919 Skellefted BK
123 J7 1451.3 4259 Helle Mors - Ole Jess Olsen 67697 67698 Laholms BK
124 B6 1443.1 42.34 Lennart Persson - Gunbritt Edqvist 54719 55172 ABK Singelton, Askersund
125 14 14349 4210 Leif Lindholm - Lars Henriksson 65323 200023 Are-Duveds BK
126 G15 14215 41.71 Ulf Jénsson - Jan-Erik Eriksson 5876 30073 Hassleholms BK
127 B17 1420.2 41.67 Bengt Friberg - Ann-Britt Friberg 46481 46480 ABK Singelton, Askersund
128 15 1410.5 41.39 Solveig Asén - Ingegerd Bergvall Wiik 59562 57428 Storsjobygdens BK - Krokom / Féllinge BK
129 L16 1372.1 40.26 May-Britt Nilsson - Ulla-Stina Gustavsson 59722 32099 Uddevalla BF
130 L1 1361.5 39.95 Sonja Bjérklund - Per Ake Sand 43058 43057 Uddevalla BF
131 L17 1353.2 39.71 Dan Karlsson - Tommy Gyllin 26314 13152 Orust BK - Brastads BS
132 A6 1339.4 39.30 Kristina Ronnback - Murari Saha 45336 38294 ABB BK
133 K6 1334.7 39.16 Karl-Erik Johansson - Britt Ahman 9680 9677  Skellefted BK
134 H9 1287.3 37.77 Ingrid Persson - Christina Martensson 20948 31309 Kristianstads BK
135 E12 1283.4 37.66 Curt Wikblad - Bo Siminski 43258 34578 Borlange BK
136 L13 1272.5 37.34 Marianne Eriksson - Jonny Grenander 10769 12357 Uddevalla BF - Munkedals BS
137 Bl12 1261.4 37.01 Marie-Louice Lind - Margareta Carlsson 67896 4145  ABK Singelton, Askersund
138 H3 1257.5 36.90 Gunnel Johansson - Elsa Nystrom 53187 54946 Kristianstads BK
139 B15 1239.9 36.38 Margareta Svensson - Pelle Svensson 43897 43898 ABK Singelton, Askersund
140 H12 1226.8 36.00 Roland Sjostedt - Moddy Schain 65900 59804 Ahus BK - Kristianstads BK
141 C7 12045 35.34 Torleif Hagg - Ulla-Karin Ericsson 12267 5316 BK Albrekts
142 D10 1159.9 34.03 Berndt Dreier - Rose-Marie Dreier 26838 26823 Boras BA
143 G8 1158.8 34.00 Bert Wahlin - Natale Bellan 41515 26026 Hassleholms BK
144 D2 1151.3 33.78 Eva Ruge - Urban Svenkvist 46173 68851 Boras BA
145 F2 1126.9 33.07 Peggy Forsberg - Hakan Andersson 80185 27530 GnestaBK
146 H7 1126.5 33.06 Hakan Lindgren - Lena Jeppsson 46824 46825 Kristianstads BK
147 B18 1126.1 33.04 Lilian Karlsson - Ann-Margreth Andersson 67897 55166 ABK Singelton, Askersund
148 A5 1106.2 32.46 Birgitta Weber - Annette Sodergren 84880 200395 ABB BK
149 E11 1097.7 32.21 Eva-Lena Engstrom - Gunilla Wikblad 43256 53251 Borlange BK
150 E8 967.1 28.38 Kjell Westin - Torbjorn Sjoqvist 31419 200105 Borlange BK
151 C8 909.5 26.69 Stig Emblad - Gunnar Nilsson 50601 50600 BK Albrekts
152 L7 888.5 26.07 Rune Karlsson - Gun Sarborn 59576 32054 Uddevalla BF
1 49 Bésta kontrakt 2 103 Basta kontrakt
Nord v KDKn64 4v N =420 Ost v 643 44 O =-420
Ingen + E102 NS + D95
#K986 & ¢ v & NT #E9752 & ¢ v & NT
4 EK762 4Knl1085 N 118 106 7 4 K96 & DKn8542 N7 6 434
vE97 v52 S 118 106 8 vED8752 v 10 S76 434
+ D63 + Kn875 025373 + 1084 + KKn6 06 7 9 107
«D7 #543 V25373 »6 #KKn10 V679 107
4 D43 aE7
v 1083 v KKn9
¢ K94 ¢ E732
#EKn102 D843
Par Kontr ut Res Poang Par Kontr ut Res Poang
C6 C2 44DV -4 vK 800 142.0 0.0| H11 H3 44D O -2 *3 300 142.0 0.0
E5 E10 4vDN= aJ 590 140.0 2.0 14 17 4v V-2 s A 100 140.0 2.0
E7 E8 44DV -3 vK 500 137.0 5.0 A8 Al4 44 O-1 oA 50 136.0 6.0
Al13 Al 44DV -3 vK 500 137.0 50| A13 Al 44 O-1 *3 50 136.0 6.0
C5 C4 4y N+1 v5 450 130.0 12.0| H20 H5 44 O-1 ¢ A 50 136.0 6.0
E6 E9 4v N+1 48 450 130.0 12.0 A4 A6 24 O+1 *4 -140 129.0 13.0
L6 L16 4v N +1 ') 450 130.0 12.0 B7 B3 34 O= *4 -140 129.0 13.0
H11 H3 4v N +1 4] 450 130.0 12.0 J9 J1 24 O+1 s A -140 129.0 13.0
Al2 A7 4v N+1 a5 450 130.0 12.0 L15 L2 34 O= LX] -140 129.0 13.0
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E3 E12 4vy N= a5 420 104.0 38.0 H13 H1 2N O +1 *2 -150 124.0 18.0
J3 J6 4v N= aJ 420 104.0 38.0 J2 J4 24 O+2 *4 -170 94.0 48.0
H6 H14 4v N= +8 420 104.0 38.0 A3 All 34 O+1 *4 -170 94.0 48.0
C7 Cl 4vy N= 48 420 104.0 38.0 E3 E12 34 O+1 *A -170 94.0 48.0
A8 Al4 4y N= aJ 420 104.0 38.0 G3 G5 34 O+1 *A -170 94.0 48.0
18 I3 4v N= aJ 420 104.0 38.0 J3 J6 34 O+1 &3 -170 94.0 48.0
B9 Bl7 4vy N= aJ 420 104.0 38.0 H4  H17 24 O +2 &4 -170 94.0 48.0
G9 G4 4y N= aJ 420 104.0 38.0 C6 C2 34 O+1 s A -170 94.0 48.0
K9 K4 4v N= aJ 420 104.0 38.0 H6 H14 24 O +2 *A -170 94.0 48.0
L9 L17 4v N= a5 420 104.0 38.0 16 I5 34 O+1 aA -170 94.0 48.0
G10 G2 4y N= v5 420 104.0 38.0 L6 L16 34 O +1 *2 -170 94.0 48.0
110 11 4v N= 4] 420 104.0 38.0 D7 D8 34 O+1 &3 -170 94.0 48.0
L10 L5 4v N= v5 420 104.0 38.0 E7 E8 24 O +2 &4 -170 94.0 48.0
K11 K2 4y N= aJ 420 104.0 38.0 H7 H9 34 O +1 2 -170 94.0 48.0
L12 L11 4v N= aT 420 104.0 38.0 J7 J8 24 O +2 &3 -170 94.0 48.0
E13 E2 4y N= aJ 420 104.0 38.0 K7 K6 24 O +2 *2 -170 94.0 48.0
E14 El 4v N= aJ 420 104.0 38.0 18 I3 24 O +2 2 -170 94.0 48.0
G14 G7 4v N= aJ 420 104.0 38.0 D9 D1 34 O+1 *A -170 94.0 48.0
Gl6 Gl12 4y N= aT 420 104.0 38.0 F9 F1 24 O +2 *2 -170 94.0 48.0
H16 H8 4v N= aJ 420 104.0 38.0 K9 K4 34 O +1 2 -170 94.0 48.0
H20 H5 4v N= aJ 420 104.0 38.0 L9 L17 34 O +1 v9 -170 94.0 48.0
A3 All 44DV-2 vK 300 82.0 60.0 L10 L5 34 O+1 aA -170 94.0 48.0
J2 J4 3v N +2 aT 200 77.0 65.0 K11 K2 34 O+1 vJ -170 94.0 48.0
D3 D6 3v N +2 aT 200 77.0 65.0 Al12 A7 34 O+1 *4 -170 94.0 48.0
D9 D1 3v N+2 aT 200 77.0 65.0 L13 L1 34 O+1 *A -170 94.0 48.0
K12 K1 3v N+2 48 200 77.0 65.0( Gl14 G7 34 O+1 aA -170 94.0 48.0
B18 B4 2N S +2 oK 180 72.0 70.0 L14 L8 34 O+1 aA -170 94.0 48.0
A4 A6 3v N +1 48 170 63.0 79.0( Gl16 G12 34 O+1 *6 -170 94.0 48.0
J7 J8 3v N+1 »5 170 63.0 79.0 H16 H8 24 O +2 *A -170 94.0 48.0
K7 K6 3v N+1 aJ 170 63.0 79.0 B18 B4 24 O +2 &3 -170 94.0 48.0
B10 B5 2v N +2 aJ 170 63.0 79.0 C5 C4 48 N-2 vT -200 62.0 80.0
F10 F5 3v N+1 aJ 170 63.0 79.0( GI10 G2 34 O +2 aA -200 62.0 80.0
H13 H1 3v N+1 aJ 170 63.0 79.0 B14 B8 24 O +3 vJ -200 62.0 80.0
B14 B8 3v N +1 a5 170 63.0 79.0 D2 D4 44 O= *A -420 33.0 109.0
G15 G6 3v N+1 48 170 63.0 79.0 F3 F6 44 O= 3 -420 33.0 109.0
D2 D4 34 V-3 &K 150 53.0 89.0 K3 K10 44 O= v9 -420 33.0 109.0
16 I5 3% S+2 *2 150 53.0 89.0 E5 EI10 44 O= *A -420 33.0 109.0
F3 F6 3v N= aJ 140 48.0 94.0 B6 Bl16 44 O= v9 -420 33.0 109.0
A9 A10 3v N= aJ 140 48.0 94.0 E6 E9 44 O= &4 -420 33.0 109.0
F9 F1 3v N= aJ 140 48.0 94.0 Cc7 Cl 44 O= 3 -420 33.0 109.0
K3 K10 44 S= s A 130 44.0 98.0 L7 L3 44 O= +3 -420 33.0 109.0
F2 F4 2v N= 4] 110 42.0 100.0 Cc8 C3 44 O= &4 -420 33.0 109.0
K8 K5 3a V-2 vK 100 38.0 104.0 G8 Gl1ll1 44 O= *A -420 33.0 109.0
D10 D5 34 V-2 v] 100 38.0 104.0 A9 Al0 44 O= *4 -420 33.0 109.0
L13 L1 34 V-2 vQ 100 38.0 104.0 G9 G4 44 O= &3 -420 33.0 109.0
14 17 24 V-1 vK 50 33.0 109.0 19 12 44 O = v9 -420 33.0 109.0
H12 H15 24 V-1 vK 50 33.0 109.0 B10 B5 44 O = *4 -420 33.0 109.0
G3 G5 4v N-1 aT -50 21.0 121.0 D10 D5 44 O= *2 -420 33.0 109.0
H4 H17 4v N-1 aJ -50 21.0 121.0 F10 F5 44 O= s A -420 33.0 109.0
L7 L3 4v N-1 aJ -50 21.0 121.0 110 11 44 O = *4 -420 33.0 109.0
G8 G11 4vy N-1 aT -50 21.0 121.0 B12 Bll 44 O= &3 -420 33.0 109.0
19 12 4v N-1 aJ -50 21.0 121.0 H12 H15 44 O= *A -420 33.0 109.0
J9 J1 4v N-1 aJ -50 21.0 121.0 K12 K1 44 O= *4 -420 33.0 109.0
L14 L8 4v N-1 aJ -50 21.0 121.0 L12 L11 44 O= a7 -420 33.0 109.0
B15 B2 4y N-1 aJ -50 21.0 121.0 E13 E2 44 O= *Q -420 33.0 109.0
L15 L2 4v N-1 aJ -50 21.0 121.0 E14 El 44 O= LY -420 33.0 109.0
H19 H2 4v N-1 aJ -50 21.0 121.0 B15 B2 44 O= *A -420 33.0 109.0
B6 B16 5vDN-1 aJ -100 8.0 134.0| G15 G6 44 O= *A -420 33.0 109.0
c8 C3 5vDN-1 *3 -100 8.0 134.0 H19 H2 44 O= *Q -420 33.0 109.0
B12 B1l 5vDN-1 4] -100 8.0 134.0 F2 F4 44 O +1 v9 -450 6.0 136.0
B7 B3 24 V= vK -110 2.0 140.0 D3 D6 44DO = *2 -590 4.0 138.0
D7 D8 24 V= vK -110 2.0 140.0 K8 K5 3NS-7 s K -700 1.0 141.0
H7 H9 24 V= vK -110 2.0 140.0 B9 B17 3NS-7 &K -700 1.0 141.0
- A5 46.1 - A5 46.1
F7 - 77.3 F7 - 77.3
- J5 80.7 - J5 80.7
E11 - 45.7 E11 - 45.7
- B1 108.4 - B1 108.4
- Gl 66.8 - Gl 66.8
H18 - 64.3 H18 - 64.3
- L4 79.6 - L4 79.6
3 4985 Basta kontrakt 4 « EKD8 Bésta kontrakt
Syd v Kn108432 74 S =1510 Vast v Kn7 2v N =110
(6)) ¢ DKn2 Alla + K984
&5 & ¢ v & NT D62 & ¢ v & NT
4632 s K4 N 6 139 1310 41076 4« Kn93 N56 876
v 965 v EKD7 S 6 139 1310 v3 v KD862 S56876
410964 7 O70401 ¢+ EKn103 ¢ D6 086 566
#Kn93 &K87642 V70401 2109543 &#EKKn V8656 6
« EDKn107 542
v- v E10954
¢ EK853 ¢ 752
&#ED10 87
Par Kontr ut Res Poang Par Kontr ut Res Poang
Bl Bl2 64 S+1 &3 1010 139.0 3.0 B16 B7 2vDO-3 43 800 142.0 0.0
H6 H20 64 S +1 &3 1010 139.0 3.0 C6 C2 2vyDN= +Q 670 137.0 5.0
B9 Bl4 64 S+1 &3 1010 139.0 3.0 H6 H20 2vyDN = &K 670 137.0 5.0
E14 E2 64 S+1 &3 1010 139.0 3.0 G7 G15 2vyDN= &K 670 137.0 5.0
G4 G6 64 S= +6 980 134.0 8.0 L11 L6 2¢DN= +Q 670 137.0 5.0
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16 I5 54D S +2 3 850 132.0 10.0 El E3 2ND O -2 v3 500 131.0 11.0
K3 K10 44DS+2 v9 790 130.0 12.0| K12 K2 29D O -2 2 500 131.0 11.0
Al A8 44 S+3 3 510 107.0 35.0 A3 A6 2v O-4 8 400 127.0 15.0
H1  H15 44 S+3 &9 510 107.0 35.0( E14 E2 2v O-4 2 400 127.0 15.0
L1 L12 44 S+3 *J 510 107.0 35.0 G4 G6 2v O-3 *8 300 111.0 31.0
A3 AG 44 S +3 3 510 107.0 35.0 K4 K11 2v O-3 45 300 111.0 31.0
F3 F6 44 S +3 *J 510 107.0 35.0 C8 C3 2v0O-3 8 300 111.0 31.0
C5 C4 44 S+3 3 510 107.0 35.0 L8 L4 2vO-3 *8 300 111.0 31.0
G7 G15 44 S+3 3 510 107.0 35.0 A9 Al4 2v O-3 8 300 111.0 31.0
B8 B4 44 S+3 3 510 107.0 35.0 D9 D2 2v O-3 *8 300 111.0 31.0
18 I3 44 S+3 3 510 107.0 35.0 K9 K6 3v O-3 a5 300 111.0 31.0
L8 L4 44 S+3 46 510 107.0 35.0 F10 F6 2v V-3 A A 300 111.0 31.0
F9 Fl1 44 S+3 3 510 107.0 35.0 L10 L17 2¢v0O-3 &7 300 111.0 31.0
19 2 44 S +3 *J 510 107.0 350 H11 Hi18 2v O-3 *7 300 111.0 31.0
Al10 All 44 S+3 3 510 107.0 35.0( E12 E5 2v O-3 8 300 111.0 31.0
F10 F5 44 S+3 *J 510 107.0 35.0( Gl14 G8 2v O-3 *8 300 111.0 31.0
G10 G5 44 S+3 v6 510 107.0 35.0( H14 H7 2v O-3 a5 300 111.0 31.0
110 I1 44 S+3 v5 510 107.0 35.0| HI19 H3 3v O-3 8 300 111.0 31.0
G11 G3 54 S+2 &K 510 107.0 35.0 F4 F7 3v O-2 8 200 82.0 60.0
H11l H18 44 S+3 +6 510 107.0 35.0 J4 J7 2v O-2 *8 200 82.0 60.0
L11 L6 44 S+3 9 510 107.0 35.0 C5 C4 2v0O-2 8 200 82.0 60.0
K12 K1 54 S+2 *J 510 107.0 35.0 15 I8 2¢yDO -1 *8 200 82.0 60.0
H14 H7 44 S+3 3 510 107.0 35.0 E6 EI11 1vO-2 *2 200 82.0 60.0
B16 B7 44 S+3 3 510 107.0 35.0 C7 Cl 1vO-2 *7 200 82.0 60.0
El E3 34DO-2 ¢A 500 82.0 60.0 E7 E10 2v0O-2 8 200 82.0 60.0
J7 J8 54D O -2 ¢+ K 500 82.0 60.0 B8 B4 2v O-2 *8 200 82.0 60.0
B11 B6 44D O -2 ¢ A 500 82.0 60.0 D8 D1 24 V-2 »6 200 82.0 60.0
J2 J4 3N S +3 3 490 77.0 65.0 K8 K7 2v O-2 *8 200 82.0 60.0
K8 K5 3N S +3 *7 490 77.0 65.0 B9 Bl4 2v0O-2 45 200 82.0 60.0
Gl G16 44 S+2 v9 480 61.0 81.0 H9 H16 1v O-2 45 200 82.0 60.0
D3 D6 44 S +2 v9 480 61.0 81.0| Bl1 B6 2v O-2 *8 200 82.0 60.0
J3 J6 44 S +2 +6 480 61.0 81.0| HI12 H4 2v O -2 a2 200 82.0 60.0
A4 Al2 44 S+2 3 480 61.0 81.0( B18 B5 2v V-2 45 200 82.0 60.0
A5 A7 44 S+2 3 480 61.0 81.0 Bl Bl12 2v N+1 vK 140 65.0 77.0
Cé6 C2 44 S+2 *T 480 61.0 81.0| H13 H2 24 N+1 v2 140 65.0 77.0
E6 E11 44 S+2 *] 480 61.0 81.0 L16 L7 INN+1 v2 120 62.0 80.0
K7 K6 44 S +2 3 480 61.0 81.0 K1 K3 2y N= *A 110 52.0 90.0
D9 D1 44 S+2 9 480 61.0 81.0 L1 L12 24 N= *A 110 52.0 90.0
B10 B17 44 S+2 v9 480 61.0 81.0 D4 D7 2v N= 49 110 52.0 90.0
L10 L17 54 S+1 3 480 61.0 81.0 J8 J1 2v N= *A 110 52.0 90.0
K11 K2 44 S+2 3 480 61.0 81.0 19 14 2v N= *A 110 52.0 90.0
L13 L2 44 S+2 *T 480 61.0 81.0 L9 L14 2v N= +Q 110 52.0 90.0
L16 L7 44 S+2 v5 480 61.0 81.0| AlL0 All 2v N= 43 110 52.0 90.0
E7 E10 3NS+2 +6 460 44.0 98.0| D10 D6 2v N= *K 110 52.0 90.0
J9 J1 3NS+2 *4 460 44.0 98.0 L13 L2 2v N= *K 110 52.0 90.0
L15 L3 3NS+2 oT 460 44.0 98.0 F3 F5 INO-1 v5 100 39.0 103.0
D7 D8 44 S+1 &K 450 37.0 105.0( B10 B17 INO-1 a5 100 39.0 103.0
A9 Al4 44 S+1 v5 450 37.0 105.0 B15 B3 3# V-1 s A 100 39.0 103.0
E12 E5 44 S+1 oT 450 37.0 105.0( H17 H5 INV-1 4 A 100 39.0 103.0
H17 H5 44 S+1 v6 450 37.0 105.0 A5 A7 l1a N= *K 80 33.0 109.0
H13 H2 3NN +1 vA 430 31.0 111.0 J9 J2 14 N= *K 80 33.0 109.0
Gl14 G8 3NS+1 oT 430 31.0 111.0 110 2 2% V= 4 A -90 30.0 112.0
G9 G12 44 S= v5 420 27.0 115.0 Gl G16 2v N-1 *K -100 22.0 120.0
H9 H16 4« S= v9 420 27.0 115.0 H1 H15 2v N-1 *K -100 22.0 120.0
B15 B3 3NS= &9 400 24.0 118.0 J3 J5 la N-1 vK -100 22.0 120.0
Cc7 Cl 24 S+5 3 260 20.0 122.0 A4 Al2 2v N-1 *A -100 22.0 120.0
L9 L14 34 S+4 ] 260 20.0 122.0| G10 G5 24 N-1 +K -100 22.0 120.0
H19 H3 24 S+5 oT 260 20.0 122.0( K10 K5 2v N-1 ¢+ Q -100 22.0 120.0
D2 D4 34 S+3 v6 230 14.0 128.0( G11 G3 2v N-1 *K -100 22.0 120.0
E8 E9 24 S+4 3 230 14.0 128.0 Al A8 3vDN-1 *K -200 11.0 131.0
K9 K4 24 S+4 3 230 14.0 128.0 17 16 2v N-2 *A -200 11.0 131.0
C8 C3 24 S+3 v5 200 9.0 133.0 F9 F2 3¢ N-2 *K -200 11.0 131.0
D10 D5 24 S+3 *T 200 9.0 133.0 G9 G12 2vDN-1 *K -200 11.0 131.0
H12 H4 24 S+2 +6 170 6.0 136.0 11 I3 2v N-3 &K -300 4.0 138.0
14 I7 3¢ S+2 *J 150 4.0 138.0 E8 E9 44 N-3 *A -300 4.0 138.0
B18 B5 24 S+1 *] 140 2.0 140.0 L15 L3 2v N-3 *A -300 4.0 138.0
F2 F4 5vDN-3 &4 -500 0.0 142.0 D3 D5 2vDN-2 *A -500 0.0 142.0
- E13 74.0 - E13 74.0
F7 - 77.3 - F1 90.3
H8 - 68.8 H8 - 68.8
- J5 80.7 - J6 79.1
Al3 - 85.7 Al3 - 85.7
- B2 78.5 - B2 78.5
- G2 69.9 - G2 69.9
- L5 87.2 - L5 87.2
5 «KD3 Basta kontrakt 6 « D95 Basta kontrakt
Nord v K1064 2NT O D -1 100 Ost v Kn7 6¢ O =-1370
NS ¢ 862 ov ¢ KKn10
*E72 & ¢ v & NT #KD1092 & ¢ v & NT
4 Knl107 4E6 N7 4585 «K1062 4ES8 N51333
v Kn98 v D732 S$74585 vK v ED983 $51333
¢ KDKn105 ¢ E94 06 8857 ¢ 98763 ¢ ED2 O 8 12109 9
«109 #K543 V68857 »E83 *764 vV 8 12109 9
498542 4 Kn743
vE5 v 106542
73 ¢54
#DKn86 #Kn5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E7 EI12 3NV-4 4K 200 142.0 0.0 C1 C3 3NO-1 *] 100 130.0 12.0




F10 F6 24 S+1
L14 L10 24 S+1
H18 H12 34 S=
L12 L7 INN+1
D3 D5 24 S=
B4 Bl15 24 S=
C4 C8 24 S=
D8 D1 24 N=
J9 J2 24 S=
K9 K6 24 S=
G10 Gl 24 S=
H15 H2 24 S=
B16 B8 24 N=
H20 H7 24 S=
F3 F5 3v O-2
A6 A8 3N O -2
D4 D7 INN-=
K4 K11 INN=
C6 C5 INN=
K8 K7 INN=
Al4  A10 INN=
B14 B10 1# N +1
H1 H5 2NO-1
L2 L1 4¢ V-1
L4 L15 3¢ V-1
E5 El 3¢ V-1
D10 D6 2v O-1
110 12 3NO-1
El4 E3 3¢ V-1
A4 A7 2¢ V=
J8 J1 INV=
D9 D2 2¢ V=
F9 F2 2¢ V=
Gl1 G6 2¢ V=
11 I3 INN-1
K1 K3 34 S-1
B6 B18 INN-1
E9 EI0 34 S-1
19 14 34 S-1
K12 K2 INN-1
L16 L8 24 S-1
B17 Bll 34 S-1
L17 L11 34 S-1
J3 J5 2vO=
Ja J7 2¢ V+1
A5 Al 3¢ V=
G5 G7 3¢ V=
H6 H17 3¢ V=
G8 G15 3¢ V=
G9 G144 3¢ V=
H9 H1l 3¢ V=
All  Al2 2¢ V+1
G12 G4 2¢ V+1
Al13 A3 3¢ V=
E13 E6 2¢ V+1
H13 H3 3¢ V=
L13 L3 3¢ V=
H14 H8 3¢ V=
G16 G2 2¢ V+1
B2 Bl 2NO=
17 16 INV+1
15 I8 3¢ V+1
F4 F7 24 S-2
H4 H19 INN-2

C7 C2 INDN-1
E8 EI11 1v N-

@
[{e)
@
o
e
P
=2
YN

K10 K5 1INN-2

B12 B7 2NN-2
L9 L5 INN-3
Ci C3 INDN-2

-110
-110
-110
-120
-120
-130
-200
-200
-200
-200
-200
-200
-200
-300
-500

138.0
138.0
138.0
134.0
123.0
123.0
123.0
123.0
123.0
123.0
123.0
123.0
123.0
123.0
111.0
111.0
103.0
103.0
103.0
103.0
103.0
103.0
90.0
90.0
90.0
90.0
90.0
90.0
90.0
78.0
78.0
78.0
78.0
78.0
64.0
64.0
64.0
64.0
64.0
64.0
64.0
64.0
64.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
39.0
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3¢ V+3

1
N
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100
100
100
100
100
100
100
100
100
100
100
100
-100
-100
-100
-110
-120
-120
-130
-130
-140
-140
-140
-140
-140
-140
-140
-150
-150
-150
-150
-150
-150
-150
-150
-150
-170
-170
-170
-170
-170
-170
-170
-180
-180
-180
-200
-600
-600
-600
-600
-620
-620
-630
-630
-630
-630
-630
-630
-630
-630
-660
-660
-660
-660
-660
-660
-660
-690
-690
-1100

130.0
130.0
130.0
130.0
130.0
130.0
130.0
130.0
130.0
130.0
130.0
130.0
114.0
114.0
114.0
110.0
107.0
107.0
103.0
103.0
94.0
94.0
94.0
94.0
94.0
94.0
94.0
78.0
78.0
78.0
78.0
78.0
78.0
78.0
78.0
78.0
62.0
62.0
62.0
62.0
62.0
62.0

12.0
12.0
12.0
12.0
12.0
12.0
12.0
12.0
12.0
12.0
12.0
12.0
28.0
28.0
28.0
32.0
35.0
35.0
39.0
39.0
48.0
48.0
48.0
48.0
48.0
48.0
48.0
64.0
64.0
64.0
64.0
64.0
64.0
64.0
64.0
64.0
80.0
80.0
80.0
80.0
80.0
80.0
80.0
90.0
90.0
90.0
94.0
99.0
99.0
99.0
99.0
105.0
105.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
115.0
130.0
130.0
130.0
130.0
130.0
130.0
130.0
139.0
139.0
142.0
74.0

87.8
79.1
77.4
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Syd
Alla

4« Kn10865
v EKn1083
*7
#96
& KD7 4932
v5 v K976
¢+ KD105 ¢E4
#K8532 #ED74
& E4
v D42
¢ Kn98632
«Knl10

Kontr

E5 5¢DO-3
K4 2v O-2
F7 2v O-2
3NV-2
E2 2v O-1
H3 5& V-1
F2 2¢v N-1
B8 3# V +2
14 3&V+2
B2 4% V +1
C8 3#V+2
17 38V +2
F3 3&V+2
K8 3# V +2
K6 2& V +3
K3 4% V +1
4 V +2
38V +3
B6 2# V +4
H4 4%V +2
2vDN-1

A9 54 V=

o]

©
WUTWUTwWww
ZeZe 2222
1O< O< OO0

+ ot

Béasta kontrakt

ANT V =-630
& ¢ v & NT
N25652
S25652
O 118 6 7 10
vV 118 6 7 10

Res Poang

800 142.0
200 138.0
200 138.0
200 138.0
100 133.0
100 133.0
-100 130.0
-150 120.0
-150 120.0
-150 120.0
-150 120.0
-150 120.0
-150 120.0
-150 120.0
-150 120.0
-150 120.0
-170 107.0
-170 107.0
-170 107.0
-170 107.0
-200 101.0
-200 101.0
-300 98.0
-600 86.0
-600 86.0
-600 86.0
-600 86.0
-600 86.0
-600 86.0
-600 86.0
-600 86.0
-600 86.0
-600 86.0
-600 86.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-630 59.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-660 24.0
-800 2.0
-800 2.0
-800 2.0
61.7
55.8
37.0
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Vast
Ingen

& ES
v D652
+ K1096
&K74
4 Kn943 &«KD
vEK98 v743
+ E82 +5
&#Kn8 &#ED109652
108762
vKnl10
¢ DKn743
&3
Kontr Ut
3NV-3 v2
6% O -2 +Q
3NV -2 T
2NV -2 +9
4v V-1 +6
58 V-1 a A
5 V-1 v6
4v V-1 & A
3NV-1 +9
4v V-1 a A
3v V-1 T
3v V-1 a A
4v V -1 a A
34 0O +1 & A
3v V= s K
3v V= A
3& V +2 v5
36 O +2 vJ
3V +2 a A
44 O +1 +3
38V +3 +9
4a V +2 a A
3% O +3 vJ
38V +3 a A
2v V +2 a A
3%V +3 & A
3& O +3 *J
3& V+3 s A
34 O +3 a8
3& V +3 & A
3% O+3 a3
38V +3 s A
4a V +2 *+K
34 O +3 vJ
INO +3 a2
2N O +4 +3
5& V= s A
5 O = *J
58 V +1 a A
5& V +1 s A
5& V +1 +9
5& O +1 +Q
5 O +1 *Q
5& V +1 & A
5& O +1 +Q
5& O +1 48
5& O +1 +Q
5 O +1 +Q
5& V +1 s A
58 V +1 s A
58 V +1 +6
5& V +1 s A
3NV +1 T
3NV +1 +6
3NV +1 +6
3NV +1 +9
3NV +1 T
3NV +2 +9
3NV +2 +6
3NV +2 +5
3N O +2 *3
3N O +2 +6
3NV +2 +9
3NV +2 +9
3NV +3 v5
3NV +3 v2
3NV +3 a A
3NV +3 v2
3NV +3 v2
54DV +1 s A
486DV +2 aA
54D S -6 &
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Basta kontrakt

6% V =-920
& ¢ v & NT
N17 251
S17251
O 125 107 10
vV 125 107 10
Res Poang
150 142.0
100 138.0
100 138.0
100 138.0
50 126.0
50 126.0
50 126.0
50 126.0
50 126.0
50 126.0
50 126.0
50 126.0
50 126.0
-130 116.0
-140 113.0
-140 113.0
-150 107.0
-150 107.0
-150 107.0
-150 107.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-170 89.0
-180 74.0
-240 72.0
-400 69.0
-400 69.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-420 53.0
-430 34.0
-430 34.0
-430 34.0
-430 34.0
-430 34.0
-460 22.0
-460 22.0
-460 22.0
-460 22.0
-460 22.0
-460 22.0
-460 22.0
-490 10.0
-490 10.0
-490 10.0
-490 10.0
-490 10.0
-650 4.0
-710 2.0
-1400 0.0
61.7
55.8
37.0
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El4 - 91.2 El4 - 91.2
9 » 107 Basta kontrakt 10 « K97 Basta kontrakt
Nord v K10 6¢ N =920 Ost v53 7¢ O =-2140
ov + KKn854 Alla +83
#D1085 & ¢ v & NT #KD10864 & ¢ v o NT
4 DKn632 4984 N 8 12107 10 484 « EDKn10 N60211
v63 v DKn85 S 8 12107 10 vE10 vD9762 S60211
+ D109 *3 051363 ¢+ ED10976 ¢ Kn542 O 7 13111212
#Kn63 SEK742 V51363 &EKN9 »- V 7 13111212
& EK5 #6532
vE9742 v KKn84
¢ E762 +K
&9 #7532
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
c2 C4 24D O -3 aA 800 141.0 1.0 A4 All 4v O-2 &7 200 142.0 0.0
D5 D8 24D O -3 s A 800 141.0 1.0 13 I5 6NV -1 &K 100 140.0 2.0
F4 F6 3NN +3 A 490 138.0 4.0 L11 L7 3vO= &5 -140 138.0 4.0
E10 E13 3NS+2 *J 460 134.0 8.0 Gl G8 3¢ V+3 &K -170 132.0 10.0
Al13 A5 3NN +2 &K 460 134.0 8.0 Cc2 C4 3¢ V43 &K -170 132.0 10.0
B14 B12 3NN+2 A 460 134.0 8.0 D5 D7 3¢ V+3 &K -170 132.0 10.0
H11 H1 3NN +1 A 430 128.0 14.0 H15 H4 3¢ V+3 *Q -170 132.0 10.0
L11 L7 3NN+1 SA 430 128.0 14.0 H16 H12 3¢ V+3 *3 -170 132.0 10.0
H20 H9 3NN +1 A 430 128.0 14.0 K1 K7 4¢ V+3 &K -190 121.0 21.0
11 I5 5¢ N+1 *3 420 122.0 20.0 E2 E8 4¢ V+3 &K -190 121.0 21.0
E7 E3 4v S= *Q 420 122.0 20.0 B4 B3 2¢ V+5 *Q -190 121.0 21.0
H15 H4 4v S= *3 420 122.0 20.0 D6 D1 3¢ V+4 *Q -190 121.0 21.0
D1 D2 34 V-4 vK 400 110.0 32.0 K11 K8 3¢ V+4 &K -190 121.0 21.0
F1 F2 5¢ N= SA 400 110.0 32.0 Al2 Al4 4e V+3 &K -190 121.0 21.0
Ji J2 3NN= *2 400 110.0 32.0 B11 B7 44 N-2 v2 -200 114.0 28.0
B2 B9 5¢ N= &K 400 110.0 32.0 J5 J7 5¢ V= &K -600 111.0 31.0
D4 D6 5¢ S= a3 400 110.0 32.0 B14 Bl12 3NV= &K -600 111.0 31.0
J5 J8 5¢ N= A 400 110.0 32.0 C1 C6 5¢ V+1 &K -620 102.0 40.0
L10 L16 5¢ S= 4Q 400 110.0 32.0 F9 F4 5¢ V+1 v5 -620 102.0 40.0
Al2 Al4 5¢ S= a2 400 110.0 32.0 E10 E13 5¢ V+1 &K -620 102.0 40.0
G15 G10 5¢ N= &K 400 110.0 32.0 K12 K4 5¢ V+1 &K -620 102.0 40.0
E2 E8 2N N +3 &K 210 98.0 44.0 H13 H5 5¢ V+1 &K -620 102.0 40.0
F10 F7 INN+4 SA 210 98.0 440 G15 G10 5¢ V+1 *Q -620 102.0 40.0
H13 H5 INN +4 A 210 98.0 44.0 B18 B8 5¢ V+1 *3 -620 102.0 40.0
G2 G6 3v S+2 &5 200 94.0 48.0 H3 H7 3NV +1 &T -630 91.0 51.0
L14 L12 INN+3 &2 180 92.0 50.0 H6 H19 3NV +1 »6 -630 91.0 51.0
H6 H19 3¢ S+3 *J 170 89.0 53.0 H11 H1 3NV +1 &K -630 91.0 51.0
El4 E5 2¢ S+4 a2 170 89.0 53.0 B15 B6 3NV +1 *4 -630 91.0 51.0
C1 C6 2¢ S+3 a2 150 60.0 82.0 D2 D3 5¢ V+2 »6 -640 63.0 79.0
Gl G8 3¢ S+2 43 150 60.0 82.0 H2 H18 5¢ V+2 *4 -640 63.0 79.0
K2 K4 2¢ S+3 a2 150 60.0 82.0 12 16 5¢ V+2 v3 -640 63.0 79.0
L2 L9 3¢ S+2 a7 150 60.0 82.0 L2 L9 5¢ V+2 *Q -640 63.0 79.0
H3 H7 3¢ N+2 A 150 60.0 82.0 K3 K5 5¢ V+2 &K -640 63.0 79.0
A4 All 3¢ S+2 a2 150 60.0 82.0 L4 L3 5¢ V+2 &K -640 63.0 79.0
B4 B3 3¢ N+2 &K 150 60.0 82.0 F5 F7 5¢ V+2 &K -640 63.0 79.0
L4 L3 3¢ S+2 *J 150 60.0 82.0 A6 A9 5¢ V+2 &K -640 63.0 79.0
K5 K1 3¢ N+2 &K 150 60.0 82.0 K6 K2 5¢ V+2 &K -640 63.0 79.0
16 19 3¢ S+2 a2 150 60.0 82.0 Cc7 C3 5¢ V+2 &K -640 63.0 79.0
Cc7 C3 2¢ S+3 a2 150 60.0 82.0 17 11 5¢ V+2 &K -640 63.0 79.0
G7 G9 2¢ S+3 *J 150 60.0 82.0 A8 Al0 5¢ V+2 &K -640 63.0 79.0
cs C5 2¢ S+3 a2 150 60.0 82.0 Cc8 C5 5¢ V+2 &K -640 63.0 79.0
18 17 3¢ N+2 A 150 60.0 82.0 J9 J4 56 V+2 *Q -640 63.0 79.0
D9 D3 3¢ N+2 A 150 60.0 82.0 D10 D8 5¢ V+2 *Q -640 63.0 79.0
E9 E1 3¢ N+2 SA 150 60.0 82.0 110 14 5¢ V+2 &K -640 63.0 79.0
D10 D7 3¢ N+2 A 150 60.0 82.0 K10 K9 5¢ V +2 &K -640 63.0 79.0
110 I3 3¢ N+2 &K 150 60.0 82.0 E11l E12 5¢ V+2 &K -640 63.0 79.0
K10 K7 3¢ S+2 &J 150 60.0 82.0| Gi2 G3 5¢ V+2 *Q -640 63.0 79.0
B11 B7 3¢ S+2 *J 150 60.0 82.0 A13 A5 5¢ V +2 &K -640 63.0 79.0
E1l1 E12 3¢ S+2 *J 150 60.0 82.0 El4 E5 5¢ O+2 +8 -640 63.0 79.0
K11 K6 3¢ S+2 »6 150 60.0 820 G14 G11 5¢ V+2 &K -640 63.0 79.0
G12 G3 3¢ S+2 46 150 60.0 82.0 L14 L12 5¢ V+2 &K -640 63.0 79.0
Gl4 G1l1 2¢ S+3 aJ 150 60.0 82.0 H20 H9 5¢ V+2 &K -640 63.0 79.0
L15 L6 3¢ S+2 aJ 150 60.0 82.0 E7 E3 3NV +2 &K -660 37.0 105.0
H16 H12 3¢ N+2 A 150 60.0 82.0 H17 H8 3NV +2 &K -660 37.0 105.0
L17 L1 3¢ S+2 *3 150 60.0 82.0 B2 B9 3NV +3 *Q -690 30.0 112.0
A6 A9 2v S+1 &J 140 31.0 111.0 G2 G6 3NV +3 &K -690 30.0 112.0
B17 Bl 2v S+1 4Q 140 31.0 111.0 J2 J3 3NV +3 &K -690 30.0 112.0
H2 H18 3¢ N+1 A 130 17.0 125.0 J6 J1 3NV +3 &K -690 30.0 112.0
J4 J6 2¢ S+2 a2 130 17.0 125.0 L10 L16 3NV +3 *Q -690 30.0 112.0
A7 A3 2¢ S+2 rYe) 130 17.0 125.0 F2 F3 3NV +4 &T -720 20.0 122.0
A8 Al0 3¢ S+1 *J 130 17.0 125.0 F6 F1 3NV +4 *6 =720 20.0 122.0
F9 F3 4¢ N= &K 130 17.0 125.0 E9 E1l 3NV +4 »6 -720 20.0 122.0
J9 J3 2¢ N+2 &K 130 17.0 125.0 B10 B16 3NV +4 *3 -720 20.0 122.0
K9 K8 3¢ S+1 4Q 130 17.0 125.0| G16 G4 3NV +4 *6 -720 20.0 122.0
L13 L5 3¢ S+1 a2 130 17.0 125.0 D9 D4 64 V= &K -1370 13.0 129.0
B15 B6 2¢ N +2 A 130 17.0 125.0 L15 L6 6¢ V= *Q -1370 13.0 129.0
G16 G4 2¢ S+2 *3 130 17.0 125.0 A7 A3 6¢ V+1 &K -1390 5.0 137.0
H17 H8 3¢ N+1 &K 130 17.0 125.0 G7 G9 64 V+1 &K -1390 5.0 137.0
B18 B8 3¢ N+1 A 130 17.0 125.0 19 18 6¢ V+1 &K -1390 5.0 137.0
B10 B1l6 2¢ S+1 4Q 110 4.0 138.0 L13 L5 6¢ V+1 *Q -1390 5.0 137.0
12 14 3NS-1 a2 -50 2.0 140.0 B17 Bl 6¢ V+1 &K -1390 5.0 137.0
K12 K3 4v S-2 43 -100 0.0 142.0 L17 L1 6¢ V+1 &8 -1390 5.0 137.0
Al - 75.6 Al - 75.6
- E6 78.2 - E6 78.2
F5 - 61.7 F10 - 80.6
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- J7 60.5 - J8 69.8
- B5 68.6 - B5 68.6
- G5 82.6 - G5 82.6
H14 - 79.7 H14 - 79.7
- L8 89.6 - L8 89.6
11 & KD842 Basta kontrakt 12 «ED63 Basta kontrakt
Syd vE32 3NT S =400 Vast v K7 6v V =-980
Ingen + Kn6 NS + KD1074
&762 & ¢ v & NT &53 & ¢ v & NT
& EKn6 4973 N7 7 899 a4 492 NOS8O070
vKn10964 87 S77899 vKnl0954 vEDG6 S08070
+ EK82 + 1075 O555 314 + E862 +5 O 125 124 7
&9 #KD853 V55544 &E98 #KKn107642 V 125 124 7
4105 & KKn10875
v KD5 v 3832
+ D943 + Kn93
&#EKNn104 &D
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
H18 H3 3NS= *A 400 142.0 0.0 J6 Jl 34 S+1 &A 170 142.0 0.0
L2 L17 INS+4 vlJ 210 139.0 3.0 Cc2 C4 34 S= &A 140 138.0 4.0
H15 H5 INS+4 vJ 210 139.0 3.0 A9 All 34 S= vJ 140 138.0 4.0
Gl4 G112 3¢ V-4 &K 200 136.0 6.0 Al3 A6 34 S= &A 140 138.0 4.0
Cc2 C4 INS+3 vJ 180 128.0 14.0 Al Al4 44 S-1 SA -100 127.0 15.0
J2 J3 INS+3 vJ 180 128.0 14.0 B2 B17 44 S-1 &A -100 127.0 15.0
17 11 2N S +2 &9 180 128.0 14.0 F2 F3 3¢ N-1 49 -100 127.0 15.0
A8 A4 INS+3 vJ 180 128.0 14.0 B5 B4 24 S-1 vlJ -100 127.0 15.0
L14 L1 INS+3 vJ 180 128.0 14.0 H13 H6 44 S-1 vJ -100 127.0 15.0
L15 L7 INS+3 a] 180 128.0 14.0 L14 L1 46 S-1 &A -100 127.0 15.0
H17 H9 INS+3 v6 180 128.0 14.0 H15 H5 44 S-1 &A -100 127.0 15.0
K10 K9 24 N +2 v8 170 119.0 23.0 H16 H1 44 S-1 vJ -100 127.0 15.0
H13 H6 24 N +2 v8 170 119.0 23.0 J2 J3 340 +3 +3 -170 114.0 28.0
Al Al4 INS+2 v4 150 100.0 42.0 19 I8 44 O +2 +3 -170 114.0 28.0
B2 B17 INS+2 *2 150 100.0 42.0 E14 E6 3% O +3 +8 -170 114.0 28.0
E3 E9 INS+2 v4 150 100.0 42.0 H17 H9 2v V +2 +K -170 114.0 28.0
K3 K5 1IN S +2 vlJ 150 100.0 42.0 B18 B9 34 O +3 a5 -170 114.0 28.0
L3 L10 INS+2 vT 150 100.0 42.0 C1l C6 44 O +3 +3 -190 100.0 42.0
H4 H8 2¢ V-3 &7 150 100.0 42.0 12 16 4% O +3 *J -190 100.0 42.0
D5 D7 INS+2 *A 150 100.0 42.0 13 I5 30 +4 +3 -190 100.0 42.0
E5 E7 2N S +1 v4 150 100.0 42.0 K3 K5 4# O +3 +9 -190 100.0 42.0
D6 D1 2N N +1 &Q 150 100.0 42.0 H4 H8 3& O +4 +3 -190 100.0 42.0
A7 Al10 INS+2 vJ 150 100.0 42.0 G5 G16 44 0O +3 +9 -190 100.0 42.0
D9 D4 1IN S +2 vT 150 100.0 42.0 17 11 44 O +3 v8 -190 100.0 42.0
K11 K8 3v V-3 &7 150 100.0 42.0 B16 B1l 34 O +4 +3 -190 100.0 42.0
K12 K4 1IN S +2 vlJ 150 100.0 42.0 H19 H7 4% O +3 *J -190 100.0 42.0
Al3 A6 1IN S +2 vJ 150 100.0 42.0 G2 G9 54 S-2 &A -200 83.0 59.0
E14 E6 2¢ V-3 &2 150 100.0 42.0 J5 J7 54DS-1 &A -200 83.0 59.0
B16 B1l INS+2 vlJ 150 100.0 42.0 c7 C3 54 S-2 &A -200 83.0 59.0
H16 H1 INS+2 vJ 150 100.0 42.0 J9 J4 46 S-2 vT -200 83.0 59.0
D2 D3 24 N+1 vA 140 77.0 65.0 K10 K9 54 S-2 *A -200 83.0 59.0
G2 G9 24 N+1 v8 140 77.0 65.0 G1l1 G15 44 S-2 vT -200 83.0 59.0
c7 C3 24 S+1 &9 140 77.0 65.0 K12 K4 54 S-2 &A -200 83.0 59.0
F9 F4 24 N +1 v8 140 77.0 65.0 L12 L8 54 S-2 &A -200 83.0 59.0
19 I8 24 N +1 +5 140 77.0 65.0 El1l E1l 2v V+5 T -260 74.0 68.0
Gl1 G15 24 N+1 v8 140 77.0 65.0 D6 D1 54 N-3 +5 -300 72.0 70.0
C1l C6 INS+1 *A 120 57.0 85.0 K11 K8 5& V= T -400 69.0 73.0
K1 K7 INS+1 v4 120 57.0 85.0 B12 B8 5& O = a5 -400 69.0 73.0
13 I5 2NS= v4 120 57.0 85.0 Gl G4 540 +1 T -420 56.0 86.0
B5 B4 INS+1 vJ 120 57.0 85.0 E3 E9 54 O +1 T -420 56.0 86.0
G5 G16 INS+1 vJ 120 57.0 85.0 A5 Al2 5 0O+1 *J -420 56.0 86.0
J5 J7 2NS= vJ 120 57.0 85.0 D5 D7 5& O +1 T -420 56.0 86.0
J6 J1 INS+1 vJ 120 57.0 85.0 K6 K2 54 O +1 a] -420 56.0 86.0
G8 G10 2NS= vT 120 57.0 85.0 C8 C5 5 0 +1 T -420 56.0 86.0
J9 J4 INS+1 vT 120 57.0 85.0 H12 H2 5& O +1 a] -420 56.0 86.0
E10 E2 2NN= v8 120 57.0 85.0 B15 B7 54 O +1 &K -420 56.0 86.0
110 14 INS+1 vJ 120 57.0 85.0 L15 L7 5& O +1 *Q -420 56.0 86.0
B12 B8 INS +1 vJ 120 57.0 85.0 L16 L11 5# O +1 *J -420 56.0 86.0
E12 E13 2NN= v8 120 57.0 85.0 H18 H3 5& O +1 &K -420 56.0 86.0
L12 L8 2NS= vlJ 120 57.0 85.0 K1 K7 5& O +2 +3 -440 39.0 103.0
F2 F3 24 N= v8 110 41.0 101.0 L5 L4 5& 0O +2 *J -440 39.0 103.0
L16 L11 24 N= v7 110 41.0 101.0 F9 F4 5% O +2 *J -440 39.0 103.0
E11l E1l 3v V-2 a7 100 38.0 104.0 E12 E13 5# O +2 *J -440 39.0 103.0
12 16 INS= vJ 90 34.0 108.0 L13 L6 5& O +2 +9 -440 39.0 103.
B3 B10 INS= v4 90 34.0 108. H14 H11l 5% O +2 *J -440 39.0 103.0
L5 L4 INS= vJ 90 34.0 108.0 D2 D3 4v V +1 a A -450 32.0 110.0
F5 F7 2v V-1 *J 50 27.0 115.0 G8 G10 44DS-2 &A -500 29.0 113.0
K6 K2 2v V-1 »6 50 27.0 115.0 Gl4 G12 54DN-2 &K -500 29.0 113.0
A9 All 2v V-1 &2 50 27.0 115.0 L2 L17 4v V+3 +Q -510 24.0 118.0
H14 H1l1 2y V-1 &6 50 27.0 115.0 E5 E7 4v V +3 *+K -510 24.0 118.0
Gl G4 24 N-1 v8 -50 18.0 124.0 D9 D4 4v V +3 +K -510 24.0 118.0
G3 G7 INS-1 vJ -50 18.0 124.0 110 14 54D O = *2 -550 20.0 122.0
F6 F1 24 N-1 v8 -50 18.0 124.0 L3 L10 54D O +1 &Q -650 14.0 128.0
L13 L6 24 N-1 v7 -50 18.0 124.0 F5 F7 5#D O +1 aT -650 14.0 128.0
H19 H7 34 N-1 v8 -50 18.0 124.0 F6 F1 54D O +1 a5 -650 14.0 128.0
A5 Al2 3&S-2 vJ -100 8.0 134.0 A7 Al10 54D O +1 a7 -650 14.0 128.0
C8 C5 INS-2 vJ -100 8.0 134.0 D10 D8 5&#D O +1 *J -650 14.0 128.0
H12 H2 24 N-2 v7 -100 8.0 134.0 B14 Bl 44D O +2 &K -710 8.0 134.0
B14 Bl 2NN -2 v8 -100 8.0 134.0 B3 B10 54D O +2 +3 -750 3.0 139.0
B18 B9 44 N-2 v8 -100 8.0 134.0 G3 G7 5#D O +2 +3 -750 3.0 139.0
B15 B7 3NN-4 v7 -200 2.0 140.0 A8 A4 5&D O +2 +3 -750 3.0 139.0
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D10 D8 34D N-2 v8 -300 0.0 142.0 E10 E2 54D O +2 +9 -750 3.0 139.0
- A3 86.2 - A3 86.2
E8 - 40.3 E8 - 40.3
F10 - 80.6 F10 - 80.6
- H20 87.3 - H20 87.3
- J8 69.8 - J8 69.8
- B6 60.1 - B6 60.1
- G6 62.2 - G6 62.2
- L9 67.9 - L9 67.9
13 « K3 Basta kontrakt 14 4 8765 Basta kontrakt
Nord v D42 5¢ O =-650 Ost v103 2% S =90
Alla + Kn9864 Ingen 4763
&D94 & ¢ v & NT &DKn65 & ¢ v & NT
4 E64 495 N13161 4ED2 4KKn43 N8 6 555
v 983 v EKn1075 S13161 vKD86 v Kn94 S86 555
+ K53 + ED10 O 119 117 9 ¢+E52 #Knl084 047776
#E1075 #KKn8 vV 119 117 9 #1032 &74 V477786
« DKn10872 «109
v K6 vE752
*72 + KD9
»632 &EK98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
B16 B12 3N O -3 4Q 300 142.0 0.0 J6 J8 INDS= *2 180 140.0 2.0
H1 H3 3N O-2 4Q 200 136.0 6.0 D7 D2 INDN= vK 180 140.0 2.0
K2 K8 3N O -2 4Q 200 136.0 6.0 H14 H12 INDS= vK 180 140.0 2.0
B6 B5 3NO-2 T 200 136.0 6.0 A3 A4 INS+1 vQ 120 135.0 7.0
C6 C8 5v O-2 4Q 200 136.0 6.0 B6 B5 INS+1 v8 120 135.0 7.0
E6 E8 3NO-2 4Q 200 136.0 6.0 K1 K9 3¢ O-2 &A 100 131.0 11.0
D1 D10 4v O-1 a] 100 123.0 19.0 E6 E8 2v V-2 46 100 131.0 11.0
A3 A4 3NO-1 4Q 100 123.0 19.0 B1 B9 INS= *2 90 111.0 31.0
F7 F2 4v O-1 &Q 100 123.0 19.0 D1 D10 INS= vK 90 111.0 31.0
L7 L13 4v O-1 a7 100 123.0 19.0 Gl Gl14 INS= v8 90 111.0 31.0
E13 E1 3NO-1 4Q 100 123.0 19.0 K2 K8 INS= v6 90 111.0 31.0
E14 E7 3NO-1 &Q 100 123.0 19.0 F3 F4 INS= v6 90 111.0 31.0
H15 H6 3NO-1 a] 100 123.0 19.0 A6 Al INS= v8 90 111.0 31.0
H16 H2 4v O-1 a] 100 123.0 19.0 C6 C8 INS= vK 90 111.0 31.0
A9 A5 1INV = &K -90 114.0 28.0 L6 L5 INS= vK 90 111.0 31.0
c7 C4 3vO= a] -140 112.0 30.0 H11 H20 INS= vK 90 111.0 31.0
D6 D8 1INV +2 +6 -150 110.0 32.0 K11 K10 INS= v6 90 111.0 31.0
D7 D2 2v O +2 4Q -170 107.0 35.0 Gl12 G15 INS= v6 90 111.0 31.0
L14 L2 3v O+1 4Q -170 107.0 35.0 A13 A7 INS= vK 90 111.0 31.0
L17 L3 3v O +2 4Q -200 104.0 38.0 H15 H6 INS= vK 90 111.0 31.0
J6 J8 3NO= &Q -600 99.0 43.0 L15 L8 INS= v6 90 111.0 31.0
D9 D5 3NO= 4Q -600 99.0 43.0 B16 B12 INS= vK 90 111.0 31.0
H14 H12 3NO= 4Q -600 99.0 43.0 L17 L3 INS= &T 90 111.0 31.0
H18 H4 3NO= a7 -600 99.0 43.0 B18 B10 INS= v8 90 111.0 31.0
B1 B9 4v O = 4Q -620 72.0 70.0 H18 H4 INS= v8 90 111.0 31.0
F1 F10 4v O = 4Q -620 72.0 70.0 F1 F10 2¢ O-1 &A 50 85.0 57.0
11 19 4v O = &Q -620 72.0 70.0 11 19 24 O-1 T 50 85.0 57.0
K1 K9 4v O = 4Q -620 72.0 70.0 G2 G5 24 0-1 +K 50 85.0 57.0
L1 L9 4v O= 4Q -620 72.0 70.0 H5 H9 24 O-1 &A 50 85.0 57.0
c2 Cl 4vO= &Q -620 72.0 70.0 F7 F2 24 O-1 &K 50 85.0 57.0
G2 G5 4v O= 4Q -620 72.0 70.0 18 2 2¢ O-1 &A 50 85.0 57.0
F3 F4 4v O= a] -620 72.0 70.0 E9 E5 24 O-1 &A 50 85.0 57.0
13 I7 4% O = a7 -620 72.0 70.0 E12 E2 2¢ O-1 &A 50 85.0 57.0
J3 J4 4v O = 4Q -620 72.0 70.0 H1 H3 INS-1 v6 -50 57.0 85.0
H5 H9 4v O= 4Q -620 72.0 70.0 L1 L9 INS-1 v8 -50 57.0 85.0
A6 Al 4v O= 7 -620 72.0 70.0 c2 Cl INS-1 v8 -50 57.0 85.0
K7 K3 4v O = 7 -620 72.0 70.0 C3 C5 INS-1 aA -50 57.0 85.0
A8 All 4v O= 4Q -620 72.0 70.0 G3 G10 INS-1 vQ -50 57.0 85.0
H8 H19 4v O= &Q -620 72.0 70.0 13 17 INS-1 vK -50 57.0 85.0
18 12 4v O = 4Q -620 72.0 70.0 14 16 3% N-1 v4 -50 57.0 85.0
E9 E5 4v O = 7 -620 72.0 70.0 L4 L11 INS-1 v6 -50 57.0 85.0
K11 K10 4v V= 4Q -620 72.0 70.0 D6 D8 INS-1 v8 -50 57.0 85.0
A13 A7 4y O= 4Q -620 72.0 70.0 H8 H19 INS-1 vK -50 57.0 85.0
B14 B2 4v O = *2 -620 72.0 70.0 D9 D5 INS-1 v6 -50 57.0 85.0
G16 G6 4v O= &Q -620 72.0 70.0 G9 G11 INS-1 vQ -50 57.0 85.0
L16 L12 4v O= aJ -620 72.0 70.0 J9 J5 INS-1 &T -50 57.0 85.0
B17 B3 4v O = 4Q -620 72.0 70.0 Al10 Al12 INS-1 v6 -50 57.0 85.0
C3 C5 3NO+1 a] -630 42.0 100.0 110 I5 INS-1 v6 -50 57.0 85.0
G3 G10 3NO+1 4Q -630 42.0 100.0 E11 E3 INS-1 vK -50 57.0 85.0
K4 K6 3N O +1 4Q -630 42.0 100.0 K12 K5 INS-1 vK -50 57.0 85.0
H7 H13 3NO+1 &Q -630 42.0 100.0 E14 E7 INS-1 &2 -50 57.0 85.0
F9 F5 3N O +1 4Q -630 42.0 100.0 B15 B8 INS-1 v6 -50 57.0 85.0
G9 G11 3NO+1 a] -630 42.0 100.0 L16 L12 INS-1 v8 -50 57.0 85.0
B15 B8 3N O +1 a2 -630 42.0 100.0 L7 L13 INV= &6 -90 35.0 107.0
Gl Gl14 4v O+1 4Q -650 17.0 125.0 F9 F5 INV= &5 -90 35.0 107.0
D3 D4 4v O +1 4Q -650 17.0 125.0 B4 B11 INDS-1 vK -100 29.0 113.0
B4 B1l 4v O +1 &Q -650 17.0 125.0 c7 C4 2¢ S-2 vK -100 29.0 113.0
G4 G8 4v O+1 4Q -650 17.0 125.0 J7 J2 INDS-1 vK -100 29.0 113.0
14 16 4v O +1 *7 -650 17.0 125.0 L14 L2 INDS-1 v6 -100 29.0 113.0
L4 L11 4v O +1 &Q -650 17.0 125.0 G4 G8 24 O= &A -110 20.0 122.0
L6 L5 4v O +1 a] -650 17.0 125.0 K4 K6 24 O= A -110 20.0 122.0
J7 J2 4v O +1 4Q -650 17.0 125.0 A9 A5 24 O= 49 -110 20.0 122.0
J9 J5 4v O +1 a] -650 17.0 125.0 E13 El 14 O +1 +K -110 20.0 122.0
Al0 Al2 4v O +1 4Q -650 17.0 125.0 G16 G6 24 O= &K -110 20.0 122.0
110 I5 4v O +1 4Q -650 17.0 125.0 K7 K3 1INV +1 7 -120 14.0 128.0
E11l E3 4v O +1 7 -650 17.0 125.0 H7 H13 24 O+1 &A -140 10.0 132.0
H11 H20 4v O+1 4Q -650 17.0 125.0 B14 B2 1lv V+2 *Q -140 10.0 132.0
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E12 E2 4v O+1 4Q -650 17.0 125.0| H16 H2 24 O+1 vT -140 10.0 132.0
Gl2 G15 4v O+1 ') -650 17.0 125.0 D3 D4 1INV +2 vT -150 4.0 138.0
K12 K5 4v O +1 rYe) -650 17.0 125.0 J3 J4 1INV +2 vT -150 4.0 138.0
L15 L8 4v O +1 4] -650 17.0 125.0 A8 All INS-3 vK -150 4.0 138.0
B18 B10 4v O+1 a2 -650 17.0 125.0 B17 B3 INDS-2 v6 -300 0.0 142.0
J1 - 715 J1 - 715
- El0 77.6 - El0 77.6
F6 - 66.3 F6 - 66.3
B7 - 79.4 B7 - 79.4
- G7 75.0 - G7 75.0
Al4 - 66.5 Al4 - 66.5
H17 - 78.2 H17 - 78.2
- L10 78.9 - L10 78.9
15 « KD6 Bésta kontrakt 16 « KD6 Bésta kontrakt
Syd v 7642 34 S =140 Vast v KKn752 ANT N =430
NS + E632 oV ¢ E108
&D6 & ¢ v & NT *62 & ¢ v & NT
4 E4 4532 N75896 4 EKn87 4952 N8 89 7 10
vD108 vE53 S75896 v10963 v8 S 8 8 107 10
¢+ KD987 ¢ 1054 058546 ¢ K42 49653 0553143
*K72 #8543 V58546 *E3 #DKn1075 V55343
4 Kn10987 41043
v KKn9 vED4
¢+ Kn + DKn7
#EKn109 K984
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
E14 E8 44 S= .7 620 142.0 0.0 H15 H7 1vDV -4 *2 1100 142.0 0.0
18 12 4¢DV-2 oK 300 140.0 20| H20 H12 1v V-5 a K 500 140.0 2.0
A9 Al2 3404 ] 200 138.0 4.0 B1l1 B18 3NN +2 &T 460 137.0 5.0
F3 F4 24 S+2 + K 170 131.0 11.0 K12 K6 3N S +2 a7 460 137.0 5.0
B7 B6 34 S +1 *7 170 131.0 11.0 C2 Cl 3NN +1 *Q 430 129.0 13.0
F7 F2 14 S+3 *2 170 131.0 11.0 B7 B6 3N S +1 a7 430 129.0 13.0
Bl1l B18 34 S+1 *2 170 131.0 11.0 K8 K4 3NN +1 *Q 430 129.0 13.0
Al4 A3 1a S+3 * K 170 131.0 11.0 L8 L13 3NN +1 v8 430 129.0 13.0
H20 H12 34 S+1 + K 170 131.0 11.0 J9 J6 3NN +1 v8 430 129.0 13.0
11 19 34 S= + K 140 94.0 48.0 E14 E8 3NN +1 v8 430 129.0 13.0
B2 B10 24 S+1 * K 140 94.0 48.0 H1 H14 4v N= 49 420 106.0 36.0
G2 Gl14 34 S= + K 140 94.0 48.0 D2 D10 4v N= 45 420 106.0 36.0
K2 K8 34 S= + K 140 94.0 48.0 F2 F10 4v N= *Q 420 106.0 36.0
D3 D4 24 S+1 +Q 140 94.0 48.0 C3 C5 4y N= *Q 420 106.0 36.0
G3 G6 34 S= + K 140 94.0 48.0 G3 G6 4y N= *Q 420 106.0 36.0
J3 J4 1a S+2 +Q 140 94.0 48.0 E5 E11 4vy N= 49 420 106.0 36.0
G4 G111 34 S= +Q 140 94.0 48.0 15 I7 4v N= *Q 420 106.0 36.0
E5 E11 24 S+1 * K 140 94.0 48.0 K5 K7 4v N= *Q 420 106.0 36.0
G5 G9 34 S= +Q 140 94.0 48.0 L5 L12 4v N= *Q 420 106.0 36.0
L5 L12 24 S+1 *2 140 94.0 48.0 G7 G16 4y N= *Q 420 106.0 36.0
C6 C8 34 S= v8 140 94.0 48.0 J8 J3 4v N= 49 420 106.0 36.0
D7 D2 34 S= + K 140 94.0 48.0 D9 D6 4v N= *] 420 106.0 36.0
E7 E9 34 S= * K 140 94.0 48.0 19 I3 4v N= *Q 420 106.0 36.0
J7 J2 34 S= + K 140 94.0 48.0| A10 A6 4y N= +5 420 106.0 36.0
K7 K3 34 S= + K 140 94.0 48.0 H13 H8 4v N= *Q 420 106.0 36.0
L8 L13 24 S+1 +Q 140 94.0 48.0| Al4 A3 4v N= *Q 420 106.0 36.0
F9 F5 34 S= + K 140 94.0 48.0 L15 L9 4v N= 49 420 106.0 36.0
J9 J5 24 S+1 + K 140 94.0 48.0 K1 K11 3NN= v8 400 82.0 60.0
A10 A6 34 S= * K 140 94.0 48.0 B2 B10 3NS= a7 400 82.0 60.0
E10 E6 34 S= + K 140 94.0 48.0 H2 H4 3NN= v8 400 82.0 60.0
110 I5 24 S+1 .7 140 94.0 48.0 K2 K10 3NS= v9 400 82.0 60.0
All Al 34 S= * K 140 94.0 48.0 A4 A5 3NN= *Q 400 82.0 60.0
E13 E3 34 S= + K 140 94.0 48.0 B5 Bl2 1v V-4 *6 400 82.0 60.0
B14 B3 24 S+1 + K 140 94.0 48.0 F7 F1 3NN= *Q 400 82.0 60.0
B15 B9 24 S+1 * K 140 94.0 48.0 D4 D5 1v V-3 *2 300 74.0 68.0
H15 H7 34 S= *7 140 94.0 48.0 L2 L10 INS +4 ] 210 71.0 71.0
L15 L9 34 S= + K 140 94.0 48.0 B15 B9 2N S +3 48 210 71.0 71.0
B16 Bl 34 S= ¢A 140 94.0 48.0 C6 C8 2v N+3 +3 200 64.0 78.0
L16 L1 34 S= + K 140 94.0 48.0 L7 L6 1lv V-2 46 200 64.0 78.0
B17 B4 1a S+2 *2 140 94.0 48.0| H16 H3 1v V-2 *6 200 64.0 78.0
D1 D10 1v N+1 *T 110 60.0 82.0 L16 L1 1v V-2 *6 200 64.0 78.0
H13 H8 2v N= *T 110 60.0 82.0 B17 B4 3v N +2 & 200 64.0 78.0
H17 H1l 24 S= + K 110 60.0 82.0 D8 D3 2N S +2 a7 180 58.0 84.0
H9 H19 INV-1 +3 50 56.0 86.0 El E2 2v N +2 *Q 170 45.0 97.0
H1 H14 1le V= 46 -70 54.0 88.0 G2 G14 3v N+1 *Q 170 45.0 97.0
F1 F10 2¢ V= *Q -90 49.0 93.0 G4 G111 2v N+2 *Q 170 45.0 97.0
D6 D8 2¢ V= +Q -90 49.0 93.0 Ja J5 3v N+1 *Q 170 45.0 97.0
G10 G12 INV= 2 -90 49.0 93.0 Cc7 C4 2v N+2 *Q 170 45.0 97.0
H18 H5 1¢ V+1 oK -90 49.0 93.0 E7 E9 3v N+1 *Q 170 45.0 97.0
El E2 4v S-1 + K -100 31.0 111.0 F9 F6 3v N+1 *Q 170 45.0 97.0
c2 Cl 34 S-1 + K -100 31.0 111.0 H9 H19 2v N+2 *Q 170 45.0 97.0
C3 C5 34 S-1 + K -100 31.0 111.0| A1l Al 2v N +2 *Q 170 45.0 97.0
K4 K6 34 S-1 +Q -100 31.0 111.0 E13 E3 3v N+1 *Q 170 45.0 97.0
B5 Bl2 44 S-1 + K -100 31.0 111.0 B14 B3 2v N +2 *Q 170 45.0 97.0
J6 J8 34 S-1 + K -100 31.0 111.0 B16 Bl 3v N+1 *Q 170 45.0 97.0
Cc7 C4 34 S-1 * K -100 31.0 111.0 D7 D1 1NN +2 *] 150 30.0 112.0
G7 G16 34 S-1 s A -100 31.0 111.0| G15 Gl 2NS+1 v6 150 30.0 112.0
K12 K5 44 S-1 + K -100 31.0 111.0 L17 L4 2NN +1 *Q 150 30.0 112.0
Al3 A8 34 S-1 s A -100 31.0 111.0 12 11 2¢v N+1 *Q 140 20.0 122.0
L14 L3 44 S-1 v8 -100 31.0 111.0 F4 F5 2v N +1 *Q 140 20.0 122.0
G15 Gl 34 S-1 + K -100 31.0 111.0 A9 Al2 3v N= *Q 140 20.0 122.0
H16 H3 44 S-1 + K -100 31.0 111.0 E10 E6 2v N +1 *Q 140 20.0 122.0
L17 L4 44 S-1 + K -100 31.0 111.0| G10 G12 3v N= *Q 140 20.0 122.0
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D9 D5 1INV +1 +3 -120 16.0 126.0 110 16 3v N= *Q 140 20.0 122.0
K1 K9 44 S-2 + K -200 7.0 135.0| A13 A8 3v N= *Q 140 20.0 122.0
H2 H4 4v N -2 *T -200 7.0 135.0 K3 K9 4v N-1 +9 -50 7.0 135.0
L2 L10 44 S-2 +5 -200 7.0 135.0 14 18 4v N-1 *Q -50 7.0 135.0
13 I7 44 S-2 + K -200 7.0 135.0 G5 G9 4v N-1 *] -50 7.0 135.0
A4 A5 2N N -2 *T -200 7.0 135.0 L14 L3 4v N-1 *Q -50 7.0 135.0
14 16 44 S-2 + K -200 7.0 135.0| H17 H1l 4v N-1 *Q -50 7.0 135.0
L7 L6 34 S-2 LY -200 7.0 135.0| H18 H5 4v N-1 49 -50 7.0 135.0
K11 K10 3v N-2 *T -200 7.0 135.0 J7 Jl 49 N-2 *Q -100 0.0 142.0
J1 - 715 J2 - 73.3
F6 - 66.3 H6 - 72.2
H6 - 72.2 A7 - 60.6
A7 - 60.6 B8 - 73.8
B8 - 73.8 - F3 73.5
L11 - 86.9 L11 - 86.9
E12 - 53.5 E12 - 53.5
- G8 48.3 - G8 48.3
17 aE4 Basta kontrakt 18 4 D5 Basta kontrakt
Nord v 98732 4v N =420 Ost v72 6y OD-51100
Ingen ¢ KKn9 NS 496542
#E108 & ¢ v & NT £K1074 & ¢ v & NT
21073 4D65 N7 7 108 8 487 & KKn1063 N 127 5 8 9
vDKn10 v64 S 7 7 108 8 v 109654 vKn83 S 127 5 8 9
410853 ¢ ED62 06 6 333 ¢ EKD107 83 016754
#KD3 #Kn974 V66 333 »2 #863 V16754
4« KKn982 « E942
v EK5 v EKD
¢ 74 ¢ Kn
#652 &EDKnN95
Par Kontr ut Res Poang Par Kontr ut Res Poang
L6 L1 4v N+1 2 450 142.0 0.0 F4 F5 3vDV-5 4Q 1100 141.0 1.0
D4 D5 4v N= 45 420 127.0 15.0 G6 G10 4¢DV-5 *K 1100 141.0 1.0
F4 F5 4v N= *7 420 127.0 15.0 D4 D5 5# S +1 *A 620 135.0 7.0
G5 G12 4y N= v4 420 127.0 15.0 L6 L1 5& S+1 *A 620 135.0 7.0
15 I7 49 N= v4 420 127.0 15.0 D8 D3 5# S+1 *A 620 135.0 7.0
E6 EI12 4y N= *A 420 127.0 15.0 19 I3 5& S +1 *A 620 135.0 7.0
D8 D3 4v N= v6 420 127.0 15.0 12 11 5&S= *A 600 112.0 30.0
J8 J3 4v N= *4 420 127.0 15.0 K2 K10 5#S-= *A 600 112.0 30.0
L8 L7 4v N= 5 420 127.0 15.0 B4 Bl4 3NN-= s 600 112.0 30.0
D9 D6 44 S= +3 420 127.0 15.0 J4 J5 5&S-= *A 600 112.0 30.0
F9 F6 4v N= 46 420 127.0 15.0 L4 L14 54 S= *A 600 112.0 30.0
H9 H13 4v N= v6 420 127.0 15.0 15 I7 B3NS = *A 600 112.0 30.0
K12 K6 4y N= v6 420 127.0 15.0 J7 Jl1 3NS= + K 600 112.0 30.0
E13 E5 4y N= *7 420 127.0 15.0 B8 B7 3NS= *A 600 112.0 30.0
B17 B5 4y N= v6 420 127.0 15.0 K8 K4 3NS= *A 600 112.0 30.0
D2 D10 2v N +3 +6 200 112.0 30.0 L8 L7 3NS= *A 600 112.0 30.0
12 11 3v N+1 v4 170 97.0 45.0 H9 H13 54 S= *A 600 112.0 30.0
L3 L11 3v N+1 v4 170 97.0 45.0| A10 Al 3NN= +8 600 112.0 30.0
C4 C6 3v N+1 *7 170 97.0 45.0 110 16 BNN-= +8 600 112.0 30.0
G4 G7 24 S+2 +5 170 97.0 45.0| A1l A7 3NS= *A 600 112.0 30.0
A8 A3 3v N+1 5 170 97.0 45.0 L13 L9 5&S= *A 600 112.0 30.0
H8 H15 3v N+1 v4 170 97.0 45.0| Gi14 G3 3NN= +8 600 112.0 30.0
A10 Al 3v N+1 v6 170 97.0 45.0| Hi14 H2 5#S= *A 600 112.0 30.0
All A7 3v N+1 v6 170 97.0 45.0 B15 B10 5# S= *A 600 112.0 30.0
E11 E7 2v N+2 2 170 97.0 45.0| H20 H1 3NN= ] 600 112.0 30.0
Al13 A9 3v N +1 v6 170 97.0 45.0 E13 E5 3vDV-3 &K 500 92.0 50.0
B16 B2 2v N +2 +3 170 97.0 45.0 E2 E3 3vDV-2 *K 300 90.0 52.0
Gl6 G8 3v N+1 *4 170 97.0 45.0 C3 C2 3 S+3 *A 170 87.0 55.0
H16 H4 3v N +1 *7 170 97.0 450| H17 H12 1#S+5 *A 170 87.0 55.0
H20 H1 2& S+2 vQ 170 97.0 45.0 Kl K11 1&S+4 *A 150 73.0 69.0
A4 Al4 INN +2 6 150 81.0 61.0 K3 K9 44 S +1 *A 150 73.0 69.0
L4 L14 2NN +1 *4 150 81.0 61.0 G5 G12 34 S+2 * K 150 73.0 69.0
K3 K9 2v N +1 *A 140 71.0 71.0 C7 C5 2& S+3 *A 150 73.0 69.0
A5 A6 2v N +1 a5 140 71.0 71.0 A8 A3 2¢ V-3 *7 150 73.0 69.0
Gl1 Gl 3v N= v6 140 71.0 71.0 H8 H15 4v V-3 2 150 73.0 69.0
L13 L9 2v N+1 *7 140 71.0 71.0 K12 K6 4# S +1 *A 150 73.0 69.0
H14 H2 2v N+1 2 140 71.0 710 A13 A9 3& S+2 *A 150 73.0 69.0
G15 G2 3v N= v6 140 71.0 71.0 E14 E9 44 S +1 ¢A 150 73.0 69.0
L17 L5 3v N= *7 140 71.0 71.0 L15 L10 2# S +3 + K 150 73.0 69.0
H18 H6 2v N +1 +6 140 71.0 71.0 B16 B2 3& S +2 *A 150 73.0 69.0
K1 K11 2v N= *7 110 57.0 85.0 L17 L5 44 S+1 *A 150 73.0 69.0
14 I8 2¢v N= *4 110 57.0 85.0 B3 Bll 34 S+1 *A 130 54.0 88.0
J7 Jl 2v N= v6 110 57.0 85.0 L3 L11 34 S+1 + K 130 54.0 88.0
E8 EI10 1s S+1 vQ 110 57.0 85.0 C4 C6 34 S+1 *A 130 54.0 88.0
K8 K4 2y N= *9 110 57.0 85.0 C8 Cl 3 S+1 *A 130 54.0 88.0
L16 L2 2¢v N= *4 110 57.0 85.0 D9 D6 2# S +2 *A 130 54.0 88.0
D7 D1 Pass 49.0 93.0 J9 J6 44 S= *A 130 54.0 88.0
B18 B12 Pass 49.0 93.0 B18 Bl2 14 S+3 *2 130 54.0 88.0
F2 F10 3v N-1 v4 -50 34.0 108.0 E11 E7 24 S= ¢ A 110 46.0 96.0
K2 K10 3v N-1 *9 -50 34.0 108.0| H18 H6 3vDV-1 &T 100 44.0 98.0
C3 C2 3v N-1 5 -50 34.0 108.0 K5 K7 1e S= *A 80 42.0 100.0
H3 H5 3v N-1 *7 -50 34.0 108.0 D2 D10 5#S-1 *A -100 24.0 118.0
K5 K7 4v N-1 *4 -50 34.0 108.0 F2 F10 3NS-1 *A -100 24.0 118.0
G6 G10 4v N-1 v4 -50 34.0 108.0 H3 H5 5# S-1 *A -100 24.0 118.0
Cc7 C5 3v N-1 *7 -50 34.0 108.0 A4 Al4 54 S-1 *A -100 24.0 118.0
F7 F1 3v N-1 *4 -50 34.0 108.0 G4 G7 5#S-1 *A -100 24.0 118.0
H7 H1l 2v N-1 v6 -50 34.0 108.0 14 I8 5&S-1 *A -100 24.0 118.0
B8 B7 4v N-1 *4 -50 34.0 108.0 A5 A6 5# S-1 *A -100 24.0 118.0
19 I3 4v N-1 *2 -50 34.0 108.0 B6 Bl 54 S-1 *A -100 24.0 118.0
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110 16 4v N-1 v6 -50 34.0 108.0 E6 E12 5& S-1 *A -100 24.0 118.0
H17 H12 4v N-1 *A -50 34.0 108.0 D7 D1 5& S-1 +K -100 24.0 118.0
E2 E3 4v N-2 &7 -100 11.0 131.0 H7 H11 3NS-1 *A -100 24.0 118.0
B4 B14 4v N-2 v4 -100 11.0 131.0 J8 J3 54 S-1 +K -100 24. 118.0
J4 J5 4v N-2 v6 -100 11.0 131.0 F9 F6 5& S-1 *A -100 24.0 118.0
B6 Bl 4v N-2 &7 -100 11.0 131.0 G11 Gl 54 S-1 *K -100 24.0 118.0
C8 Cl 4v N-2 &7 -100 11.0 131.0 G16 G8 54 S-1 +K -100 24.0 118.0
J9 J6 4v N-2 &7 -100 11.0 131.0 H16 H4 5& S -1 *A -100 24.0 118.0
E14 E9 4v N-2 &7 -100 11.0 131.0 L16 L2 5& S-1 *K -100 24.0 118.0
Gl4 G3 4v N-2 v6 -100 11.0 131.0 G15 G2 34DS-1 +K -200 6.0 136.0
B15 B10 3N N-2 *2 -100 11.0 131.0 F7 F1 2NS-3 *A -300 3.0 139.0
L15 L10 4v N-2 &4 -100 11.0 131.0 E8 E10 44 S-3 &2 -300 3.0 139.0
B3 B1l 4v N-3 a5 -150 0.0 142.0 B17 B5 5#RD S-1 *A -400 0.0 142.0
E1l - 80.4 E1l - 80.4
J2 - 73.3 J2 - 73.3
- F3 73.5 - F3 73.5
Al2 - 82.8 Al2 - 82.8
- B9 64.8 - B9 64.8
- G9 78.7 - G9 78.7
- L12 76.4 - L12 76.4
H19 - 69.2 H19 - 69.2
19 sE Basta kontrakt 20 & EKn2 Basta kontrakt
Syd v ED652 3NT S =400 Vast vD108 6NT N = 1440
oV + KD9854 Alla ¢ K754
&K & ¢ v & NT &E104 & ¢ v & NT
4 DKn85 4109762 N 6 109 4 9 D9 & 10653 N 1010121212
v 87 v KKn104 S 6 109 4 9 v 6532 v K4 S 1010111111
+6 + Kn102 O6 2 384 + DKn96 ¢ 1083 033111
#ED8742 &9 V62 384 #3852 &KD96 v3i31l111l
& K43 & K874
v93 v EKn97
¢E73 ¢E2
#Kn10653 &Kn73
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
C3 C2 5¢DN= *2 550 142.0 0.0 E1l E6 3NN +3 &9 690 123.7 18.3
K12 K7 24DV -2 & A 500 140.0 2.0 K3 K11 3N N +3 &6 690 123.7 18.3
G5 G8 3N S +2 &A 460 137.0 5.0 B4 B12 3NN +3 &6 690 123.7 18.3
E9 E11 3N S +2 &7 460 137.0 5.0 H4 H6 3NN +3 &K 690 123.7 18.3
Al A3 3NS+1 &4 430 121.0 21.0 D5 D6 3NN +3 &Q 690 123.7 18.3
D3 D10 3N S +1 &Q 430 121.0 21.0 G5 G8 3NN +3 &6 690 123.7 18.3
C4 C6 3NS+1 &4 430 121.0 21.0 L5 L14 3NN +3 &K 690 123.7 18.3
K4 K10 3NS+1 &7 430 121.0 21.0 K6 K8 3NN +3 &6 690 123.7 18.3
L4 L12 3NS+1 &8 430 121.0 21.0 B7 B2 3NN+3 &9 690 123.7 18.3
16 I8 3NS +1 &5 430 121.0 21.0 D8 D2 3NN +3 &6 690 123.7 18.3
B7 B2 3NS+1 a] 430 121.0 21.0 A9 A4 3NN +3 a3 690 123.7 18.3
E7 E13 3NS+1 a5 430 121.0 21.0 D9 D7 3NN +3 &K 690 123.7 18.3
G9 G16 3NS+1 L 1] 430 121.0 21.0 E9 E11 3NN +3 &6 690 123.7 18.3
Al3 A10 3NS+1 &7 430 121.0 21.0 G9 G16 3NN+3 a5 690 123.7 18.3
H15 H9 3NS+1 &7 430 121.0 21.0 L9 L8 3NN +3 &6 690 123.7 18.3
H17 H1 3NS+1 &8 430 121.0 21.0 E14 E10 3NN +3 &9 690 123.7 18.3
L17 L6 3NS+1 &7 430 121.0 21.0 H15 H9 3NN +3 &6 690 123.7 18.3
H18 H7 3NS+1 &2 430 121.0 21.0 H17 H1 3NN +3 &9 690 123.7 18.3
J9 J7 5¢ N+1 vJ 420 106.0 36.0 H20 H2 3NN +3 &9 690 123.7 18.3
E1l E6 3NS= 48 400 98.0 44.0 Al A3 3NN +2 a5 660 79.1 62.9
K2 K1 5¢ N= &9 400 98.0 44.0 D1 D4 3NN +2 a3 660 79.1 62.9
G3 G15 3NS= a] 400 98.0 44.0 F1 F4 3N N +2 &3 660 79.1 62.9
L5 L14 3NS= 48 400 98.0 44.0 11 14 3NN +2 &K 660 79.1 62.9
D8 D2 3NS= 4Q 400 98.0 44.0 J1 J4 3NN +2 a5 660 79.1 62.9
K9 K5 5¢ S= 4Q 400 98.0 44.0 K2 K1 3NN +2 a5 660 79.1 62.9
G12 G2 3NS= v8 400 98.0 44.0 D3 D10 3NN +2 &6 660 79.1 62.9
F9 F7 3v N+1 aT 170 90.0 52.0 F3 F10 3N N+2 a3 660 79.1 62.9
11 14 3¢ N+2 &9 150 87.0 55.0 13 12 3N S +2 v6 660 79.1 62.9
J5 J6 4¢ N+1 &9 150 87.0 55.0 K4 K10 3N N +2 &6 660 79.1 62.9
F1 F4 3v N= &9 140 84.0 58.0 L4 L12 3NN +2 &9 660 79.1 62.9
A9 A4 3¢ N+1 &9 130 80.0 62.0 B5 B14 3NN +2 a3 660 79.1 62.9
110 17 3¢ N+1 &9 130 80.0 62.0 F5 F6 3NN +2 &9 660 79.1 62.9
L11 L15 3¢ N+1 &9 130 80.0 62.0 16 I8 3NN +2 &5 660 79.1 62.9
H3 H14 3¢ N= &9 110 70.0 72.0 E7 E13 3NN +2 &3 660 79.1 62.9
13 12 29 N= &9 110 70.0 72.0 J8 J2 3NN +2 a5 660 79.1 62.9
H4 H6 2v N= &9 110 70.0 72.0 J9 J7 3NN +2 &6 660 79.1 62.9
G6 Gl 2v N= &9 110 70.0 72.0 110 17 3NN +2 &K 660 79.1 62.9
C8 Cl 2¢ N+1 &9 110 70.0 72.0 B11 B15 3N N +2 &6 660 79.1 62.9
Al2 A8 2¢ N+1 &9 110 70.0 72.0 L11 L15 3NN +2 &Q 660 79.1 62.9
L16 L3 3¢ N= &9 110 70.0 72.0 G12 G2 3NN +2 &K 660 79.1 62.9
E2 E5 3v N-1 &9 -50 48.0 94.0 K12 K7 3NN +2 a3 660 79.1 62.9
B4 B12 4v N-1 &9 -50 48.0 94.0 Al3 A10 3N N+2 &K 660 79.1 62.9
A5 Al4 5¢ N-1 &9 -50 48.0 94.0 Gl4 G4 3NN +2 a5 660 79.1 62.9
D5 D6 6¢ S-1 a] -50 48.0 94.0 L16 L3 3NN +2 a5 660 79.1 62.9
F5 F6 5¢ N-1 &9 -50 48.0 94.0 A6 A7 4v S+1 +Q 650 52.7 89.3
15 19 5¢ N-1 &9 -50 48.0 94.0 E2 E5 3NN+1 &K 630 325 109.5
K6 K8 5¢ N-1 &9 -50 48.0 94.0 C3 C2 3NN+1 a5 630 325 109.5
c7 C5 6¢ N-1 aT -50 48.0 94.0 G3 G15 3NN+1 &Q 630 325 109.5
G7 G11 5¢ N-1 &9 -50 48.0 94.0 H3 H14 3NN +1 &9 630 325 109.5
L7 L2 5¢ N-1 &9 -50 48.0 94.0 c4 C6 3NN+1 &9 630 325 109.5
L9 L8 3¢ N-1 &9 -50 48.0 94.0 H5 H16 3NN +1 a3 630 325 109.5
E14 E10 4v N-1 &9 -50 48.0 94.0 15 19 3NN +1 a3 630 325 109.5
B16 B3 5¢ N-1 &9 -50 48.0 94.0 J5 J6 3NN +1 a5 630 325 109.5
B17 B6 5¢ N-1 &9 -50 48.0 94.0 G6 Gl 3NN+1 a5 630 325 109.5
B18 Bl 2v N-1 &9 -50 48.0 94.0 c7 C5 3NN +1 a5 630 325 109.5
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D1 D4 5¢ N-2 &9 -100 21.0 121.0 G7 G11 3NN+1 *T 630 325 109.5
Jl J4 5¢ N-2 &9 -100 21.0 121.0 L7 L2 3NN +1 »6 630 325 109.5
F3 F10 4v N-2 *9 -100 21.0 121.0 c8 Cl 3NN+1 a5 630 325 109.5
K3 K11 6¢ N-2 &9 -100 21.0 121.0 H8 H12 3NS+1 +6 630 325 109.5
H8 H12 3NS-2 &7 -100 21.0 121.0 Al12 A8 3NN +1 a5 630 325 109.5
J8 J2 66 N-2 *9 -100 21.0 121.0 E12 E8 3NN +1 &6 630 325 109.5
B9 B8 5¢ S-2 +Q -100 21.0 121.0 L13 L10 3NN +1 43 630 325 109.5
D9 D7 5¢ N-2 &9 -100 21.0 121.0 H18 H7 3NN +1 &K 630 325 109.5
E12 E8 5¢ N-2 *9 -100 21.0 121.0 H19 H11 3NN+1 a5 630 325 109.5
L13 L10 5¢ N-2 *2 -100 21.0 121.0 B17 B6 4v S= *2 620 11.2 130.8
Gi14 G4 64 N-2 +5 -100 21.0 121.0 L17 L6 4v S= *J 620 11.2 130.8
H20 H2 6¢ N-2 *9 -100 21.0 121.0 B16 B3 3NS= *+Q 600 8.1 133.9
B11 B15 4v N-3 &9 -150 8.0 134.0 B18 Bl 2v S= *Q 110 6.1 135.9
H5 H16 34 O+1 v9 -170 6.0 136.0 F9 F7 4v S-1 &8 -100 3.1 138.9
B5 B14 3NS-4 *2 -200 3.0 139.0 K9 K5 4v S-1 4Q -100 3.1 138.9
A6 A7 4v N-4 &9 -200 3.0 139.0 A5 Al4 4v S-2 *Q -200 0.0 142.0
H19 H11l 6¢DN-4 &9 -800 0.0 142.0 E3 - 85.8
E3 - 85.8 J3 - 64.2
J3 - 64.2 - F2 47.0
- F2 47.0 All - 69.5
All - 69.5 - B10 66.3
- B10 66.3 - G10 67.2
- G10 67.2 H13 - 79.6
H13 - 79.6 - L1 56.7
- L1 56.7 B9 B8 A-IA- 56.8 56.8
B9 B8 Pen/Pen -40.0 -40.0
21 a2 Basta kontrakt 22 a- Basta kontrakt
Nord v EK10742 34 OD-1100 Ost v KD92 3v S =140
NS +Kn ov + D9865
#KDKn82 & ¢ v & NT &ED83 & ¢ v o NT
4 D10 & EKKn874 N9 59 45 & KKN1086 497432 N 6 109 5 6
vD63 vKn8 S95945 v63 vE7 S 6 109 5 6
¢ E8754 ¢ 1063 O4 8 488 ¢ K107 +E3 O7 3 486
&E96 »104 V 48 488 #KKn10 #6542 V73486
#9653 « ED5
v95 v Kn10854
¢ KD92 ¢ Kn42
&753 97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
J8 J2 4v N= oK 620 141.0 1.0 L5 L1 4¢vDS= v3 590 142.0 0.0
Al3 All 4y N= s A 620 141.0 1.0 c2 C8 44DV -2 vK 500 136.0 6.0
K2 K1 44D O-3 v9 500 137.0 5.0 F2 F5 44DV -2 vK 500 136.0 6.0
E14 E11 4¢DV-3 vA 500 137.0 5.0 E3 E6 44DV -2 vK 500 136.0 6.0
11 14 44D O -2 v9 300 133.0 9.0 D4 D10 44DV -2 vQ 500 136.0 6.0
H20 H3 44DO0O-2 v9 300 133.0 9.0 K10 K6 44D O -2 vJ 500 136.0 6.0
F9 F7 3v N+1 aA 170 130.0 12.0 Al A9 4v S= aT 420 120.0 22.0
G4 G15 44 N+1 s A 150 126.0 16.0 G4 G15 4v S= oK 420 120.0 22.0
L13 L11 44 O-3 v5 150 126.0 16.0 F6 F7 4v S= a5 420 120.0 22.0
G16 G10 54 O-3 v9 150 126.0 16.0 16 11 4v S= v3 420 120.0 22.0
G5 G14 3vy N= s A 140 117.0 25.0 D9 D8 4v N= aT 420 120.0 22.0
H5 H7 3v N= s A 140 117.0 25.0 E10 E12 4v S= oK 420 120.0 22.0
E10 E12 3v N= aA 140 117.0 25.0 H11 H13 4v S= v3 420 120.0 22.0
H16 H6 3v N= s A 140 117.0 25.0 K12 K8 4v S= 46 420 120.0 22.0
L17 L7 3v N= s A 140 117.0 25.0 B14 B6 4v S= 46 420 120.0 22.0
H19 H12 3v N= aA 140 117.0 25.0 E14 E11 4v S= oK 420 120.0 22.0
D5 D6 44 N= oK 130 108.0 34.0 B16 B4 4v S= &T 420 120.0 22.0
E8 E1l 3& N+1 s A 130 108.0 34.0 K5 K11 5e V-3 vK 300 107.0 35.0
B17 B7 4« N= oK 130 108.0 34.0 B12 B15 4 V-3 +6 300 107.0 35.0
H14 H4 2v N= s A 110 104.0 38.0 F1 F3 4e4DV-1 vK 200 93.0 49.0
Cc2 C8 44 O-2 v9 100 90.0 52.0 K3 K2 44 V-2 vK 200 93.0 49.0
E2 E7 34 O-2 v5 100 90.0 52.0 C4 C3 44 V-2 v9 200 93.0 49.0
H2 H17 44 O-2 v9 100 90.0 52.0 C5 Cl 44 V-2 vK 200 93.0 49.0
K4 K10 44 O-2 v9 100 90.0 52.0 A7 A8 4a V-2 vK 200 93.0 49.0
C5 Cl 44 O-2 v9 100 90.0 52.0 Cc7 C6 44 V-2 vK 200 93.0 49.0
L5 L1 44 O-2 v9 100 90.0 52.0 J9 J8 44 V-2 +6 200 93.0 49.0
16 I8 44 O -2 v5 100 90.0 52.0 110 I8 44DV -1 vK 200 93.0 49.0
G7 G2 44 O-2 v9 100 90.0 52.0 Al12 A3 44DV -1 vK 200 93.0 49.0
A10 A5 44 O -2 v9 100 90.0 52.0 H14 H4 44 V-2 vK 200 93.0 49.0
B10 B9 54 O-2 v9 100 90.0 52.0 L17 L7 4a V-2 v2 200 93.0 49.0
L10 L9 44 O-2 v9 100 90.0 52.0 H20 H3 44 V-2 vK 200 93.0 49.0
L12 L15 44 O-2 v9 100 90.0 52.0 12 I5 3v S+1 46 170 79.0 63.0
L14 L6 44 O-2 v9 100 90.0 52.0 14 I3 3v S+1 46 170 79.0 63.0
F3 F10 34 O-1 v9 50 71.0 71.0 D1 D3 34 V-1 vQ 100 66.0 76.0
C4 C3 340-1 v9 50 71.0 71.0 F4 F10 4« V-1 vK 100 66.0 76.0
15 19 44 O-1 v9 50 71.0 71.0 D6 D7 34 V-1 vQ 100 66.0 76.0
B8 B3 34 0-1 v9 50 71.0 71.0 J6 J7 34 V-1 +5 100 66.0 76.0
D9 D7 44 O-1 v9 50 71.0 71.0 17 19 44 V-1 vK 100 66.0 76.0
B12 B15 34 O-1 v5 50 71.0 71.0 E8 El 44 V-1 vQ 100 66.0 76.0
L16 L4 2¢ V= vA -90 64.0 78.0 L8 L3 44 V-1 vQ 100 66.0 76.0
Al A9 4v N-1 s A -100 54.0 88.0 B10 B9 44 V-1 +5 100 66.0 76.0
F1 F4 4v N-1 s A -100 54.0 88.0 E13 E9 34 V-1 vK 100 66.0 76.0
Jl J4 4v N-1 oK -100 54.0 88.0 H16 H6 34 V-1 vQ 100 66.0 76.0
D3 D10 4v N-1 s A -100 54.0 88.0 L16 L4 34 V-1 vK 100 66.0 76.0
J5 J6 4% N-1 s A -100 54.0 88.0 Gl G3 4v S-1 46 -50 46.0 96.0
L8 L3 4v N-1 aA -100 54.0 88.0 Jl J3 4v S-1 *7 -50 46.0 96.0
H11 H13 4v N-1 oK -100 54.0 88.0 J2 J5 4v S-1 v3 -50 46.0 96.0
Al12 A3 4v N-1 oK -100 54.0 88.0 G5 G14 4vS-1 oT -50 46.0 96.0
Al4 A6 4y N-1 aA -100 54.0 88.0 G7 G2 4vy N-1 *2 -50 46.0 96.0
H9 H1 24 O= v9 -110 42.0 100.0 A10 A5 4v S-1 46 -50 46.0 96.0
110 17 26 O = v9 -110 42.0 100.0 L12 L15 5¢ N-1 49 -50 46.0 96.0
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B18 B2 24 O= v5 -110 42.0 100.0 Ala A6 4v S-1 46 -50 46.0 96.0
E3 E6 24 O+1 v9 -140 38.0 104.0 H19 H12 4v S-1 a] -50 46.0 96.0
K9 K5 34 O+1 v9 -170 36.0 106.0 H2 H17 5v N-2 *A -100 31.0 111.0
D1 D4 5¢vDN-1 s A -200 25.0 117.0 K4 K1 4vDN-1 46 -100 31.0 111.0
Gl G3 5v N-2 &K -200 25.0 117.0 K7 K9 5vDS-1 46 -100 31.0 111.0
B5 Bl 5v N-2 s A -200 25.0 117.0 Al3 All 4vyDS-1 aT -100 31.0 111.0
G6 G9 4v N-2 &K -200 25.0 117.0 L13 L11 5¢vDS-1 48 -100 31.0 111.0
A7 A8 5& N -2 &K -200 25.0 117.0 Gl6 G10 4vDS-1 a] -100 31.0 111.0
D8 D2 5v N-2 s A -200 25.0 117.0 D2 D5 24 V +1 v2 -140 20.0 122.0

K12 K7 5#DN-1 s A -200 25.0 117.0 G6 G9 3a V= v9 -140 20.0 122.0

E13 E9 5v N-2 s A -200 25.0 117.0 H9 Hl 24 V+1 SA -140 20.0 122.0

B16 B4 54D N-1 s A -200 25.0 117.0 L14 L6 34 V= vK -140 20.0 122.0

H18 H8 4v N -2 &K -200 25.0 117.0 B17 B7 34 V= vK -140 20.0 122.0

13 12 5vDN-2 s A -500 8.0 134.0 H5 H7 34 V+1 SA -170 12.0 130.0
K3 K11 5¢vDN-2 s A -500 8.0 134.0 B8 B3 34 V+1 &A -170 12.0 130.0
F5 F6 5¢DN-2 s A -500 8.0 134.0 B18 B2 24 V +2 v9 -170 12.0 130.0
K6 K8 5vD N -2 s A -500 8.0 134.0 H18 H8 34 V +2 SA -200 8.0 134.0
c7 C6 5vDN-2 s A -500 8.0 134.0 B5 Bl 5vDS-2 aT -300 6.0 136.0
G8 G12 4vyDN-2 &K -500 8.0 134.0 E2 E7 5¢DN-3 LY -500 4.0 138.0
J9 J7 5vDN-2 s A -500 8.0 134.0 L10 L9 24DV = vQ -670 2.0 140.0

B14 B6 54D N -3 s A -800 0.0 142.0 G8 Gl12 44DO= +6 -790 0.0 142.0

- A4 62.4 - A4 62.4
J3 - 64.2 - E5 67.8
- E5 67.8 J4 - 73.8
- F2 47.0 F9 - 67.8
- H15 103.3 - H15 103.3
- B11 94.3 - B11 94.3
- Gl1 78.8 - Gl1 78.8
- L2 74.9 - L2 74.9
B18 B2 Pen/Pen -40.0 -40.0
23 #1043 Basta kontrakt 24 & Kn74 Basta kontrakt
Syd v K1073 6NT S = 1440 Vast v EKn83 6NT V =-990
Alla ¢ Kn65 Ingen + K10643
&EK2 & ¢ v & NT &2 & ¢ v & NT
& Kn6 498752 N 1212111212 4 K3 4 ED1062 N4 3311
vDKn654 v82 S 1212111212 v KD2 v 765 S43311
+ D832 +104 011211 ¢ DKn72 ¢ E98 O 9 109 1212
&84 #Kn953 viili211 &#KDKNn5 #E7 V 9 109 1212
« EKD 4985
vE9 v 1094
+ EK97 +5
&D1076 #1098643
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E1l E10 6N S +1 vQ 1470 136.0 6.0 E3 E8 4v O-2 +5 100 142.0 0.0
c2 C8 6N S+1 vQ 1470 136.0 6.0 D4 D10 2NV +4 ¢4 -240 140.0 2.0
K4 K1 6N S +1 +3 1470 136.0 6.0 E1l E10 3NV +1 +6 -430 137.0 5.0
C5 Cl 6NS+1 vQ 1470 136.0 6.0 H17 H3 3NV +1 ¢4 -430 137.0 5.0
110 I8 6NN +1 a9 1470 136.0 6.0 A3 A5 44 O+1 +5 -450 133.0 9.0

Al3 Al12 6NS+1 +3 1470 136.0 6.0 K5 K1l 4e V+1 &2 -450 133.0 9.0

L14 L7 6N S+1 v4 1470 136.0 6.0 D1 D3 3NV +2 ¢4 -460 115.0 27.0
F1 F3 6NS= v5 1440 106.0 36.0 Cc2 C8 3NV +2 v8 -460 115.0 27.0

12 I5 6NS= v4 1440 106.0 36.0 12 I5 3NV +2 +3 -460 115.0 27.0
A3 A5 6N S = vQ 1440 106.0 36.0 14 I3 3NV +2 v9 -460 115.0 27.0
E3 E8 6N S= v4 1440 106.0 36.0 L5 L16 3NV +2 ¢4 -460 115.0 27.0
D4 D10 6NS= vQ 1440 106.0 36.0 16 11 3NV +2 +5 -460 115.0 27.0
H5 H14 6NS= vQ 1440 106.0 36.0 J6 J7 3NV +2 +3 -460 115.0 27.0
D6 D7 6N S= *2 1440 106.0 36.0 K7 K9 3N O +2 +5 -460 115.0 27.0
H6 H8 6N S = v5 1440 106.0 36.0 B9 B4 3NV +2 v3 -460 115.0 27.0

16 11 6NS= v2 1440 106.0 36.0 E9 E2 3NV +2 +6 -460 115.0 27.0
J6 J7 6N S= v6 1440 106.0 36.0 110 I8 3NV +2 v3 -460 115.0 27.0
L6 L2 6N S= v5 1440 106.0 36.0 K10 K6 3NV +2 *4 -460 115.0 27.0
G7 G10 6NS= vJ 1440 106.0 36.0 L12 L13 3NV +2 +3 -460 115.0 27.0
B9 B4 6NN= a7 1440 106.0 36.0 B14 B7 3NV +2 ¢4 -460 115.0 27.0
G9 Gl 6N S= vQ 1440 106.0 36.0 L14 L7 3NV +2 +6 -460 115.0 27.0
J9 J8 BN S= v4 1440 106.0 36.0 B17 B8 3NV +2 +3 -460 115.0 27.0

K10 K6 6N S = vQ 1440 106.0 36.0 Al A4 4e O +2 +5 -480 91.0 51.0

All A6 6N S = *2 1440 106.0 36.0 J1 J3 44 O +2 +5 -480 91.0 51.0

B11 B10 6N S= v4 1440 106.0 36.0 F4 F10 54 V+1 &2 -480 91.0 51.0

Gl11 G16 6NS= vQ 1440 106.0 36.0 H6 H8 4e V +2 &2 -480 91.0 51.0

K12 K8 6N S = v5 1440 106.0 36.0 L6 L2 44 V+2 &2 -480 91.0 51.0

L12 L13 6N S= vJ 1440 106.0 36.0 17 19 54 V+1 &2 -480 91.0 51.0

E14 E12 6N S= v5 1440 106.0 36.0 H9 H18 44 V +2 *2 -480 91.0 51.0

L15 L1 6NS= v5 1440 106.0 36.0 H20 H4 44 O +2 &2 -480 91.0 51.0

B14 B7 3NN +4 &3 720 81.0 61.0 F1 F3 3NO+3 +3 -490 51.0 91.0

H19 H1 4N S +3 vQ 720 81.0 61.0 D2 D5 3NV +3 +3 -490 51.0 91.0
B5 B16 3N S +3 vQ 690 72.0 70.0 G2 G4 3NV +3 +3 -490 51.0 91.0
K5 K11 3NS+3 v4 690 72.0 70.0 J2 J5 3NV +3 +3 -490 51.0 91.0
A8 A9 4N S +2 v4 690 72.0 70.0 K3 K2 3NV +3 ¢4 -490 51.0 91.0

B15 Bl 3N S +3 v4 690 72.0 70.0 K4 K1 3NV +3 +3 -490 51.0 91.0

G15 G5 3NS+3 v5 690 72.0 70.0 B5 B16 3NV +3 v8 -490 51.0 91.0

H15 H11 3NN +3 T 690 72.0 70.0 E5 E6 3NV +3 +6 -490 51.0 91.0

H20 H4 3N N +3 &2 690 72.0 70.0 H5 H14 3NV +3 *4 -490 51.0 91.0
c4 C3 4NS+1 vQ 660 57.0 85.0 B6 B2 3NV +3 +3 -490 51.0 91.0
L5 L16 3N S +2 v5 660 57.0 85.0 D6 D7 3NV +3 ¢4 -490 51.0 91.0
E9 E2 3N S +2 v4 660 57.0 85.0 F6 F7 3NV +3 +3 -490 51.0 91.0
L9 L4 5N S= vQ 660 57.0 85.0 c7 C6 3NV +3 +3 -490 51.0 91.0

E11l E13 3N S +2 v5 660 57.0 85.0 H7 H16 3NV +3 +6 -490 51.0 91.0

H12 H13 3N S +2 v5 660 57.0 85.0 A8 A9 3NV +3 +3 -490 51.0 91.0

Ala A7 5NS= v4 660 57.0 85.0 G8 G3 3NV +3 ¢4 -490 51.0 91.0

B18 B3 3N S +2 v4 660 57.0 85.0 G9 Gl 3NV +3 v3 -490 51.0 91.0
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